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Direction (Q. Nos. 1 to 10) : Read the

following two passages and answer the

questions that follow each passage.- Your

-answer to these questions should be -

__ based on the passages only.

- Passage - |
| was sitting next to Missy in my ninth-grade
world history class when Mrs. Bartlett

Thenlheard it. The last grou ‘Mauro
L g P aaurn

Julrette Rachel, Karina.” | could feel the
e——-—'___'_'__'_‘_‘—--—\ g

tears well in my eyes. How could thatwent

down to her ankles, ah‘d the other'girt who '

wore welrd clothes Oh how bad Iy Iwanted
,__.,r_._.—--—"'_-_'_'_"'_"“"_"'“ 5

. tobewithmy friends.

| fought back tears as | walked_,' up to

Mrs. B. She looked at me and knew

_announce_d a new project. In groups, we

were to create a newspaper around the

culture we were studying. -
— e —

On a piece of paper we wrote the names '

of three fnends we wanted in our group.

After oolleotmg aII the requests, Mrs. B
informed us ‘that she would take. into

& oonsrderatxon the names we chose and

—_—

would let us know the results the.next day.

| had no doubt | would get the g'r_‘odp-of my.
choice. There were only a handful-of

o

sociably decent people in the class, and ;
.._-____-’_.—_‘h___________.‘*_‘___.--"—“———________-—

Missy was one of them. | knew we had
-chosen each other '

. The next day, ! anxrously awarted the class

what -l was there for. | was deterrnined to

convince her i should be in the “good” =
C“‘--...___.,_g___,,___
group “Why 9”Istarted

She gently placed a hand on my shoulder <5

“I know what youwant, Karina,” she sald -'
.(_____,_‘___._-—-—-—'_-_"'_'_‘_-——-.__._-—-—--

“but your group needs you. | need you to

- help them wﬂde on thi this -

L e e

assrgnment Only you can help them

| was stunned. Iwas

~ amazed. She had seen somethlng I[} me-
TR

[ hadn'tseen. .

Rl

' “Wi[l you help them 7" she asked

After the bell rang, Mrssy and | stopped

talkmg as Mrs B called for our attention. _

She started to call out names. When she_

‘reached group three Mlssy 'S iame was

caHed Solmin group three, | thought. The -

second, thlr_d and fourth members of the

included. There had to be some mistake !

KB - 2A/26

- group were called. My name was not

@

_I_stood stralghter. “Yes,” lrephed Icouidt

believe it came out of my mouth, butit did.

(had committed. :
Ihad committed.

1.  Thenew prOJect was for
- (A) Launchrng a magazrne :
(B) Creatmg a newspaper for
' oulture = =
(C) An nouncing a new ouiturer

(D) Creating a'newspaper_fo_rfun

~ Cond.
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/ A leader has the ability to influence

others through quahtres such as

personal expertise

command of Ianguage ‘and the

creatlon of mutual respect — all of
which require strong interpe_rsonal
skills. '

. (A) aura = -
. (B) charisma v

(C) elan

g

(D) machtsmo

_lnter' ersona! skrtls ‘include the
abmty to
the emotlons motwations, and 45

- during social mteractrons or in a

- _ sootal-:nter_aotwe context.

(A feel

() suss

(D) wew T‘

- are able to manage their beha\nour

dunng soclal interactions and ahgn

“their goats to the goals of others

. actwlties
- cohesive
collaborative v
'oouooationat '. :

concessive

oneself and other

14

Theyare able to empathrz:e andare
sensitive to the needs of others and

- “tothe forces that___theway '

 that others_feel and behave.

»

15,

bend -
(Bﬁ ntar -
©)
D)

Modern teamwork often bnngs

mend v

shape'

together individuals from diverse

_-groups who; may not share common

and manage

norms, values or

®
o

5

«cing and video conferencing, and the ..

but
ho do- offer umque expertrse

e ;n3|ghts and perspectwes 8,

(A)' aocommoda’uons Ui
cuhr_cle_s e
salaries %

.vocabutanes

E- ail, voice mail, audlo oonferen— :

myriad other technologies that "

- enable lndmduals to communicate -

o Those who have lnterpersonal skllis :

with each other not only increase the e

'WMW

®)

- (B) nai_\rete

but also require a. herghtened*
sensmvrty to the ————— of

mterpersonal interactions.

lnnuendos o=

- (C) nuances

| )
(57

rep_artee ot

~(Turnover)
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1 7 Thrs Jdea is parttcu!arly true in the

18,

- worlds of virtual learnmg and virtua}

commumcatron where one cannot -

yet Use hand gestures facial

. eXpressions, or body__.__________ to

fully express ideas. -

r\:})-/language

(B) movement

(C) -pbses

(D) 'po's.iﬂon's_

The chalienge !S to

mteractrons but in virtual mteractions

' as weI!

. \ _(A) perfect

(®)  perfom 1"

e 'prpduce

(D) project

" As the poltce saw the accndent:

: themselves the drwer avoided the

i of havmg to gwe a
: detailed report. :

(A) need :
(B) requirement

“(C) indictment

) necessity

" KB-2A16"

1nter— :
personal skills not only in face-to—face

oD

(®

vnmu ms

20.

e

It's a complete waste
e __overwhowastob

the main thmg we have to do

= decude what to do next..

(A) arguing =

t\(B( discussing_,'

" () repeating

(D) considering

It was easy to _réaﬁse why the

machine had stopped working sincé

E 'lt was a dzrect ._.____________ of hiS

i - 71s

farluqe to maintain it.

A Complement

(B) Concém' :

(C) \,C‘onsequence |

(D) Conviction

| alm bomp_’leteiy confused as to why.
she did it and so it's not __ -

to imagine why other p_eopl_é ér’é_
mylstiﬁe"d, too..__ |

(A)v/definite

(B) diffi cult

(C) debatabje

(D) 'fiecided

Contd.
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23. lhave great NG forthem at

this hme becaUse i have had asimilar

experience. -
' (A) ‘sincerity V7
B sympathy*”
'-(C) eerrow

(D) ‘sadness

"24. Many of the beople in the crowd

_were \nsmly crylng because they all .
i Mwnh those who had lost \

- relatives inthe diS'as_ter.

UPSC/OPSC/PSC

26. Today is Varun's birthday. One yearz
‘after, from today he will be twice as
~ oldas he was 12 years ago. How old

~ isVaruntoday ? =

(A)  20years

(B) 22years % l 'H

: T % 22 Y

(B 25 years jo ¥+ 22
o

(D) 27years iae

27 Ayush was born two years after his

father’s marrlage His mother is fi fi ve

years younger than his father but 20

~ years older than Ayush who is 10

years old. At what age d:d the father

~ get mamed’? _

G resented s g e
' d (A) 23years s S i 7
(B) regretted e a0 e
= ne 30 %5
-(C) rejoined (C) 33 years g _
(D) sympathtzed v ‘(o) 35 years ?;?}?_ %_51?
. 3%
25. Atailor hadanumber of shirtpleces In three coloured boxes — Red i
- tocutfromarolloffabnc Hecuteach . Green and Blue, 108 balls areg, L
ool w 25
placed. There are twice as many € ¥
-rollofequallength lnto‘lO pleces He Sy 0
. balls in the green and red boxes :
cut at the rate o we . combmed asthere arein the blue box
How many f0“3 would be cutin 24 and twrice as many in the blue box as
-mlnutes o R e & . there are in the red box. How many
St o , ?
__-(A)- 3210lls | fo P balls_ arethere mthe green box
(B) 54rolls S e .
e o _W‘_m‘\ 4 - (B). 36
- (C) 108 rolls > :
Fioeiue A) € B
(D) 120rolls . . - _0\"\;@;?) (D) None ofthese
e R E ~ (Tumover)
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: M}
Ravi’s brother is 3 years Senior_to

him. His father was 28 years of age

when hlS srster was bom wh:le his -

mother was 26 years of age when he

; \gas born If hlS sister was 4 Years of

age when hts brother was bo;n what

were the ages of Raw s father and

- mother respectwely when his brother'

was bom ?

(A 32 years 23 years s
(B) 32 years 29 years. ¢

(C) 35 years 29 years

(D) 35 years 33 years |

ln aclass of 60 students the number

: of boys and grds pa rtrcxpatmg in the

-an,nual Sports IS in the latto 3:

e
e 7 ;fmf respectwety The numberofglrts not
\ ?/_Qf:@ 9 parttc:patmg in the sports tsSmore'
= ?/v\ than the number of boys not
-'parttcnpatmg in the sports If the'
; Qﬁg number of boys partimpatlng inthe -
v sports is 15, then how many guis are
-’iﬁh
g S there inthe c!ass‘? ;
Qs ited - o
g; (B) 25 S
Wi 5 -
o / 30
'\
(D) Data madequate '
| -\& KB-2a726
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31.

32

If you write down all the n.,
from 1to 100, then how manyt

do you write 3 ?

; no
(A) 11 = ';}}

: &
(B) 18 @, 7Y

= | achy q‘??g'
(C) 20 s

Choose the mlssmg terrn out of t

D) 21

gwen altemattves

ADVENTURE D,VENTURE
DVENTUR 2. VENTY.

(A)  VENTURE

o B VENTUR, ~

(C) DVENT
(D) DVENTU

@ How many patrs of Ietters in the word

CHAIRS have as many letters
between them in the word asin the -
alphabet‘> = '
A2 -
B,
(C) I

© 4

Con't'd."_' o



34.

Choose the miésing term out of the

_given alternatives :

J)@/ tyd ins, xch, ?
mrw

®) nw
(C) nsx
(D) nsw

35 in the fo“owmg questton varlous

ey ,\ .. .

B KSU

~terms of an alphanumerlcal series
. are gwen with-one or more terms
missing as shown by (?) Choose the

missi-ng' té‘mi out of the given

tternat S g YL

AaF 6G, 111, 18L, wgf"l

36 In the followmg questlon ‘various

terms of an alphanumencal series
are gwen with one or more terms

missing as shown by (?). Choose the -

" ‘missing term out: of the given

attematwes o
'l./

22
BMO EOQ, HQS '?

B) . SOV

(C) SOW
(D) "LMN

| KB—2A26
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in the foliowmg question, various

terms of an alphanumencal senes-

are given with one or more terms

missing as shown by (’?) Choose the

missing term out of the given.

altematwes
- E 2 '*’?f :
_ P3C R5F TBIL!EL ?
‘@) X16Q. v~ -
: e
X170
(D) Y17O

38 What wﬂl be the next term in the

followmg senes ‘? T
2] 6‘%’ I'U % '\ ?ﬁ

BKS, DJT FIU, HHV,,,_ g

o

b&ﬁ&@&q&fazz?“

®) IGX
ey JGW
p) JGU

~ 39. Inthe followmg questlon 'various

terms of an aiphabet senes are given

: thh one or more terms mtssmg as

shown by (7). Choose the msssmg

term out of the given alternatwes

.& .[

(Tum_over'-). :



| series
h* terms
;osethe
ng'.given
S
e
.
‘(J‘\T -
C
ok
er
3 tng
. -ofhi

g,(b e
Lo p ff% vanous
?/D\- that "
.. ﬂ£ - p?rthiss_ir_lg =1
| ; U«“ numé.é missing
0 Smenie'ﬁves .:
ﬁ"i} . thereé?'?'?
s WA e
"/ty@ . E :
= () |
< 4o
o \/6]
N . g
(D) |

@) |:{arieus : ;

10 to 44) : The

.;company {o the
1 that Company
S h‘“_“‘—-—-—-—_.;,

~ 5to 20071,

o Exportsby g

? 2000 2001,

/as Rs. 250

/ /PSC
EY| Exclusive Cnm:hirlg for UPSC/OPSC/

S z‘he rat:o of z‘he

41. The imports
Proportionate to the
company in the year:
(A) 1995
(B)- 1996 _

(C)_ 1897

(D) 2000

42. What was the percentage incre
inimports from 1 997 to 1998 ?

A) 72
B) 56 . 0 55
= ‘ % |

(C) 28 3= . =
%."‘/{E

. (D) Data lnadequate ”"“2\* |

was Rs. 272 crores the exports fro:
the company in 1996 was

e w (A Rs.37 ‘Crores.
Dorts in the (B)-Rs. 320 crores -
gether was (C) - Rs:2806rvres
lmports m (D) Rs. 275 crores
i \ \ ’F’ N : -
o 9' ~ 44, |n howmanyofthe given years were
o fﬁ\ﬁ\ the exports more than the tmpoﬂs'?
S o o @A) 1
i L ey \
e ®) 2
( . .
i it : : e
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~ Direction (Q Nos: 45 to 48) A School has four Sect:ons——A B C D of C!ass X
_students The resu!ts of half yearfy and annual exammat;ons are shown in the tab!e
_given below.
_-Re.'f-:.ult - ' Bl " No. df'students"' j
| | Section — A Section - B | Section=C. Section—-D|
Students failed in T ' S R
i both the Exams. | . 28 o T
|  Students failed in e
Half-yearly but - '
_pa'ssed in Annual _ _ _
Students passed m | | ' '
Z'__H_alf-_yeairly butfalled
in Annual Exams. e oo ) D
e Students passed in _ ' '
boththe Exams.f o e | 2 L s Lo 4
, 45. lf the number of students passmg an (C) Both the exammations had
ls < ‘exammatton be conmdered e S g a!mostthesamedrfﬁcultylevel
| -
! cntena for companson of dlfﬁculty (D) The two exammattons cannot
: Ievel of two ‘examinations, Wthh of - aie peasiodbE compared fordlfﬁculty Ievei

| _ the fol!owung Statements is true in @0\“ 'many students e m_
| : thls context’-’ 55

5 e A S 5 Class IX in the school ? ‘

2 "-(A')_ Halfyeaﬂy exammatlonswere S (A) 336-" i '_ o | ' 2/
more.dlfﬁcult.__._ . - (B) 189 ' '
j (B) ‘Annual examinations: were '(6)' 335 205 | ',\ - Qe
more difficult S _9&; ‘\g

'KB—2N2§ -y e TM
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47. Which Section has the maximum 50 Fmd outthewrongtenn in thesen\

pass percentage in at least one of o

the. two exammatrons A

-(A) A Section ‘

e B 5o
(B) BSection_ (B)
(C) -CSeetion_"_ . .(C) 10
. (D) ‘50

(D) DI Secti_on |

48. Which sechon has the maxsmum

3
success rate in annual exam:~ sene’s/H pq,?}pﬂ £1
.nanon'?"_f- 12310‘?9802
? ASect:on ' '_ - - _ (A) o
- (B) BSectlon_' e :
e (B) 199
) CSecnon Sen e .
| P Ciog (C) 299
(D) D Section :
' (D) 999

49. Find out the two s:gns to be

' -mterchanged for makmg foﬂowrng“

Serl'eS
R A,
'}5@) i 9%9*3 -‘?—"’>' @ 15
(B) —andA 29'("’”’1‘”% = (B) 24 -
+andx)°?9“?/3 fﬁﬁ L/
(5) +andA - ©) 48

(12) -
gé’%j %’}( ° /}}
‘? ' /«%D\%Q?
,% :

. §0?q :

s

S

e

Y
b

@_540 50, 500, 5000

: Fmd the mtssmg number in the

52 Fmd the wrong number m the

B3

- Contd,
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53. Choose the missing terms out of the

given alternatives :

54, In the followmg questson vanous '
: tenns of an alphanumencal senes

are gwen with one or more terms'

| mlssmg as shown by (?) Choose the
m:ssmg term out of the gwen

aitematwes e

225,7Y7, 14X, 23W11,34V13,7
LA 47015
‘@) 47Vi4

\)@) 45u15’\/7
/27u24

55. Choose the mtssihg term out of the

gwen aitematwes

@TTR!BUTIO@ @RIBUT@. "

@uatm@ IBUTL Ut

@ 18U

KB - 2A/26
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56. In the fo!lowmg questton a Ietter-" &

senes is gwen in whlc:h some letters ol

are mlss:ng The missmg !etters are:

givenin the proper sequenee as one .

of tpe_alterpa_tl_ves_. Choose ._the -

correct atteﬁ'letive o

€

b
- ba_ba’] bac acb cbac

- bmbaésu
(A) bbea

(C) cbac ¥
S R e

(D) - aach X

57 Choose the missing t_e'r‘m.gq‘t ofthe’

gsven atternatsves

Y.

DHL, '.Tx BFJ,?

® NRY
(©) ‘CoK

@ oK |

~ (Turn over)
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‘Ivaniu

In the following question, various |

- terms of an alphabet series are given

“with one or more terms mlssmg as .

shown by (?). Choose the missing

(&) & 2
AZGTMN'?YB

(A) TS v

| The'- two tfafns are running in same
_ ' dtrect:on at 90 krﬁlhr and 60 km/hr
' respectwely The faster train crossed

a passenger sattmg in the slowertram

L in27 seconds. The Iength of faster :

60
‘still water to a oertam upstream pomt

: tram Is:

(B .ZOOmetefs- -

(A) -220'mete_re-

A man can rowa boat at 4 5 km/hrm '

~ andcan row back to the startmg pomt ;

e _rn a nverﬂowmg with 1.5 km/hr. The

average speed durlng the total

: Joumey is:

A) 2.4 km/hr

NIL-10S B

61.

P

(C) Rs.1,500

-~ (B) 4kmr

(©) 34km/r

' (D) '3-kmfhr

There s a leak in the bottom of atar

 Before the leak, it could be filleq

fourand haif hours. After leak it take

| half an hour longer If the tan'k is fu

the leakage vwll empty the tank m
(A) 45 hours
(B) 25_ hours
(C) 28hours
) Bhou}s‘
A, Band C enter intoa partnersh:p
A invests 3 ttmes as much as B
invests and B invests two-third of
what C invests. At the end of the year

the profit eamed is Rs 6 ,600. The

share of Bis :
(A) Rs.2,100

(B) Rs. 1,200

zs;}g;

Contd

(D) Rs.3.160

:@\/xﬁ
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~ (B) Rs.1,640less

5 coffee (:n tonnes) for the years 2010

= dfagram and answer the 'ques_frons.

EE R g

1S I
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~Rs. 56,000 in company N How much :

more or less dividend would he hayfe
received has the amount been .
invested in company M ‘?

(A) Rs.1,640more

(C) Rs.1,860more -

(D) Rs. 1,680 Iess

D:agram reﬂects expon‘s of tea and

: 2011 2012 2013 and 2014 Refer the‘_

WO S _..16.7_120___16&.".__:_'_' = o =
: ; excessive hours of labour. |n the earhest

2010 2011 2012 2013 2014

KB=28126 g

69. In the year 2014, Suraj 'in'\ies'ted:" 3 '___70:..?What was thé-percentégeiﬁcrease}in

the export of tea in 2014 from that in
' _'_.-'_.""2010--? C o
e

© 20

(D) 35

é ' MM (Q Nos 71 to 75) Readthe :

fo!!owrng passage and answer the given '

'quest.'ons

_ o o IThere are two anczent e\n!s that science,
| Direction {Q No 70) The foﬂomng Bar

—--..—-—-———'—-_'_-_.-

'- unwnsely used may mtensd’y they are
; e

tyranny-and war. But fam concerned now

2o rather w;th pleasant possnbllmes than with -

unpleasant ones

' Scn_enc,e-can__ confer two kinds of

 benefits - It can diminish bad things and it

~can lncreg_ge;_g_gom Let us begm with

o T

the former

Sclence ‘¢an abolish poverty and

- et

/"“_"_"‘_"‘"—"-'H"'_-‘"“'_"'_ﬂ

:_human commumtles before agnculture

."_-each human mdiwdual reqwred two or

(Turn over ) ;
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more square miles to sustain life. (C) The ability of science to
Subsrstence-was precanous and death diminish bad things
. from starvation musthave beenfrequent Gt _'(D) The ability of science to

_—

At that stage, men ' had the same'mixture ~ increase good things _

et e B M

of m:sery and carefree enjoyment as still 79 According to the article human
mak&s up the llves of others animals e beings can lessen the quantum of

~ Agriculture was, a-techmcal advanca : Ao thsywont back e

ofthe same kmd ofrmpoxtanoe as attaches - (&) Preagriculture days

tomodem machmerndust:y Thewaythat - (B) If they adoPt agricultural

econom
agﬂculture was used isan awfu! wammg y

(C). Use the benefits of science |

 to our age._ It mtroduced slavery and

. serfdom; hum'an:saer.iﬁce ‘absolute - wisely
_,_._.—-—-—-""‘\ -, ; T ; ;
monarchy and large wars. ins’:ead of . (D) Noneofthe above

raising th standard f fife, -exce tforati : :
s = p b 73.  Which of the following statements is

govemrngmmonty, it merely mcreased the

population. On the whole, it probeb'ly R _
SaeRe— ' : : (A) The condition of human beings
incr d th " uman misery. !t is ) '

has been red ucedto fhe status
~not possxble that 1ndustnallsm maytake the : - Son
' 2 : s of animals during the modermn
same course. ' R i ,
: ST ot ' age of machine industry
TG WhiCh of -the following is. NOT the =
o : ' (B) Industrialism introduces slavery

mainfocus ofthe article ? . .. ' '
-(A) T/nr;y andwar e (C) Agriculture was a technical

f/ advancementup_on industrialism |
(B) Pieasant possrbriltles T 5

(D) None of the above
smence ;

KB-2A/26 . - e - . Contd.
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74. Agrarian economy increased the.

sum of human misery because :

(A)’\/J’have to mdulge in the .

practice of human sacrlf ceto
 increase the output

(B) Itwasnotusedwisely

(C) It resulted in population .

-~ explosion

(D) None ofthe above

75. “Which of the following is NOT

" mentioned in the article ?
(A) Human 'be’ings.enjOyed' the

~ same kind of pleasures and

suffered the same kind of °

“misery like the animals during
‘pre-agrarian economy

(B) Agr_icuftur_é raised the standar_d

of the life for some human

beings -

(C) Agrarian economy is more

scientifically advanced than

pre-agrarian economy

KB — 2A/26

- L5

(D)a%’ﬁ’él?stnahsm will Iessen human
: _.misery because it is
; accompanled by democrattc

fonn of govemment
Direction (Q. Nos_. 76 to 8:0)' : Read the
'folloMng passage and .answefr the.

questions given below.

' HémeSsing tﬁ'é fimﬁune-system to ﬁgh't_ '

cancer, iong a medlcal dream St

becomlng a rea!rty Remarkable stone&gf
e

ts.weﬁ&gggyay and tennma! :Iineg.s

going-into remissmns that last yeals —

backed by solid data — have led toan -
explosion of interest and billions of dollars

of inves'tmehts in the rabidl'y g-raw;v-ing' field

of immunotherapy. Pharmaceutical
firms, philanthropists and the U. S.

——

~ government’s “cancer moonshot”

('_'“—"""“"—"’__"‘—.'"_'_'_-_-_H

program are pourmg money . mto ,

-developmg.- tr,eatments. Medical

“'conferences on the topics are papked;

(Tu mover)
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Hundreds of ciinieal.triafs inve'l\}in'g_

: _lmmunotherapy, alone or combined with - which, combined with surgery and-

e

every type of ,cancer._

" The immune system — a network of

cells, tissues and blws:they_;

'L—-—-—--._..-J

cancer often finds ways to hlde from the T

M

_ 1mmune system orblocksatsabuhtytoﬁght. .
| Immunotherapy tnes to help the lmmune .
system to recognize canoer as a mreat,
] and attack it. A widely used type of =
: lmmunotherapy mvolves drugs that free

~immune celis to ﬁght caneer by biocktng a -’

meghanism — caw—“‘a"

cancer uses to shut down the tmmune

S system These drugs called c mt.

 inhibitors, have been approved by the -

,——-—-—-—-——-—-—‘“"—-—-——_.._ e

Food and Drug ML,U_@ treat

e

advanced melanoma, Hodgkin lymphoma -
,,_,,___/—-f'_'_'_"'"‘v ,_\‘__'___,__,_,-_.r—f“—"‘

(i

b!adder More drugs in this c!ass are inthe
P,_,l—""

pipeline. Patlents are clamourzng for :

checkpoint drugs, including one, Keytruda
M it .

KB = 2A/26 e (-20')-

othertreatments are undemay for neariy :

cancers of the lung, kldney and e

known to many as “that Jtmmy Carter drug” .

radiation, has left the former President with
 no sign of recurrence even though
* melanoma had spread to his liver and

e S o 7 e bram.
Sec':rete—'-dwﬂ- o

true ?
(A) Canceris a ver?‘ dangerous

. disease because it does not

spare even a very powerful

person like Jimmy Carter, the
fonﬁef'.President of the United

States

ﬁm is :mprovement in caneef '

treatment because bllhons of
- dollars are being psured irito

~ research

Cc) If mei’anom‘a sbreads_ to liver

and brain, there will be no

‘recurrence of cancer

- (D) None ofthe above

Contd.

kit s

viruses, bactéria and other mvaders But 76. Which of the following statementsis



N4 VAN 1S

Exclusive Coaching for UPSC/0OPSC/PSC

77. Checkpointdrugs have become Verf
popular Secause : Z |
(A) They nullify cancer's attemptto
" shutdown the immunie system
~ (B) You do not have to suffer the
>Qpam of surgery and radiation
- during treatment
_ H_(_C) Food and Drug Admlnlstrat:on_ -

has approved itsuse

(D) None of the above
78. 'Keytruda is ;
Nt with-which -;limmy‘Carter was

/ partlci’uiar type of disease

' ... Suffering from
.. - {B).. The name of a drug thatis used
to treat cancer patlents

.'(C) Another version of Hodgkln-;

......

lymphoma =

(D) "None ofthe above

79.

)

'8_0.

®

- D)

(B)

C :
©.

- (D)'

Immunotherapy :

Mar‘”k"s t_h'e‘end _of human
dependence on drugs during

--cancertreatme__nt ot

Augments the ability of human
i-mmunesystemtgi'ﬁghtcancer =
clis®s = oo
Creates ‘checkpoints’ against
cancercells

None of the above

‘Cancer moonshot’ program :-

Is.a philanthropic ,mrtiatwe by

_US govemment

Is spons’ored by pharma- .
ceutical firms to hold medical
conferences_ o_n immuno-

. therapy =
- ©)

Channellzes resources mto_ :

_researchon me_devejlqpment of=

cancer treatment through
immunotherapy

'Nr)_ne of the-abd\re o

KB=2ARE ©: - il (ady

(Tumnover) =
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OCS PRELIMINARY EXAMINATION 2018-PAPER-2
ANSWER KEY (SET-A)

1 B 41 C
2 D 42 D
3 C 43 B
4 D 44 D
5 B 45 C
6 A 46 D
7 B 47 D
8 C 48 A
9 A 49 D
10 D) 50 A
11 B 51 A
12 B 52 C
13 B 53 B
14 D 54 A
15 D 55 B
16 C 56 B
17 A 57 B
18 A 58 B
19 D 59 D
20 A 60 B
21 C 61 A
22 B 62 B
23 B 63 C
24 D 64 D
25 D 65 C
26 C 66 A
27 A 67 D
28 D 68 D
29 A 69 D
30 C 70 B
31 C 71 A
32 D 72 C
33 A 73 D
34 A 74 C
35 B 75 D
36 A 76 D
37 C 77 A
38 C 78 B
39 C 79 B
40 B 80 C
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‘TestBookletSeries - T.B.C.:CSP-182
- TEST BOOKLET e 'gﬁ-\_ﬁ o

 GENERAL STUDIES = - "o &d&g{i
o PAPERSI. souinigs = 0 - e e

[‘ﬁme Allowed : 2 Ho'urs_] : ) - Ma'xfmum Marks : 200]

T ~ :INSTRUCTIONS TO CANDIDATES :
- 1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
- CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING

PAGES OR ITEMS ETC.. IF SO, GET IT' REPLACED BY A COMPLETE TEST -

 ©  BOOKLET OF THE SAME SERIES ISSUED TO YOU. - E e .
2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D, AS THE CASE MAY BE, INTHE

'APPROPRIATE PLACES IN THE ANSWER SHEET USING BALL POINT PEN (BLUE OR BLACK).

* 3. You have to enter your Roll No: on the Test Booklet B T
-in.the Box provided alongside. DO NOT write [ 2 10[ 2 .4 \ S q
anything else on the Test Booklet. - e e

4. YOU ARE REQUIRED TO FILL UP AND DARKEN ROLL NO., TEST BOOKLET / QUESTION

BOOKLET SERIES IN'THE ANSWER SHEETS' AS WELL AS FILL UP TEST BOOKLET | _
QUESTION BOOKLET SERIES AND SERIAL NO. AND ANSWER SHEET SERIAL NO. INTHE
ATTENDANCE SHEETS CAREFULLY. WRONGLY FILLED UP ANSWER SHEETS ARE LIABLE

_ FORREJECTION AT THE RISK OF THE CANDIDATE. .~ i e _
S.  This Test Booklet contains 80 items (questions). Each item (question). comprises four
- . responses (answers). You have to select the correct response (answer) which you want
_tomark(darken) on the Answer Sheet. In case; you feel that there is more than one correct’
~ response (answer), you should mark (darken) the response (answer) which you consider
- thebest. In any case, choose ONLY ONE response (answer) for each item (question).
6. You have to mark (darken) all your responses (answers) ONLY ‘on the separate Answer
Sheet provided by using BALL POINT PEN (BLUE OR BLACK). See instructions in the Answer
- 7. (i) All items (questions) carry equal marks. All items (questions) ‘are compulsory. Your
 total marks will depend only on the number of correct res ponses (answers) marked by
. Yyouinthe Answer Sheet. . S ey = PRt o
(i) There will be negative markings for wrong answers. 25 (twenty five) percent of
marks allotted to a particular item (question) will be -deducted as negative -
- marking for every wrong response (answer). - _ : _ Gt
(ii) If candidates give more than one answer, it will be treated as a wrong answer
‘evén if one of the given answers happens to be correct and there will be same
~ penalty as above to that item (question). : S
8. Before you proceed to mark (darken) in the Answer Sheet the responses (answers) to
' various items (questions) in the Test Booklet, you have to fill in some particulars in the
Answer Sheet as per the instructions sent to you with your Admission Certificate.
9. After you have completed filling in all your responses (answers) on the Answer Sheet and
‘after conclusion of the examination, you should hand over to the Invigilator the Answer
Sheetissued to you. You are allowed to take with you the candidate’s copy / second page
of the Answer Sheet along with the Test Booklet, after completion of the examination, for -
your reference. - i E : B - EG s e
10. Sheets for rough work are appended in the Test Booklet at the end.
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LEIME Exclusive Conching for UPSC/OPSC/PSC

OCS PRELIMINARY EXAMINATION 2018-PAPER-2
ANSWER KEY (SET-B)

1 B 41 B
2 C 42 D
3 D 43 C
4 B 44 D
5 D 45 B
6 C 46 A
7 D 47 B
8 D 48 C
9 A 49 A
10 A 50 D
11 A 51 B
12 © 52 B
13 B 53 B
14 A 54 D
15 B 55 D
16 B 56 C
17 B 57 A
18 B 58 A
19 D 59 D
20 B 60 A
21 A 61 C
22 B 62 B
23 C 63 B
24 D 64 D
25 C 65 D
26 A 66 c
27 D) 67 A
28 D 68 D
29 D 69 A
30 B 70 C
31 A 71 C
32 C 72 B
33 D 73 A
34 C 74 A
35 D 75 B
36 D 76 A
37 A 77 C
38 B 78 C
39 B 79 C
40 C 80 D
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Test Booklet Series ~© = = i} T. B. C_._: CSP -18/2

TESTBOOKLET
GENERAL STUDIES * - SN :

. | PAPER-1I 20 2331_“
@e Allowed : 2 Hc';ursj : : (Maximum Marks - 200)
i : : INSTRUCTIONS TO CANDIDATES : '

1. - IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN:OR MISSING
PAGES OR ITEMS ETC. IF .S0,” GET IT REPLACED BY A COMPLETE TEST
BOOKLET OF THE SAME SERIES ISSUED TO YOU. .

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, G OR D, AS THE CASE MAY BE, IN THE
APPROPRIATE PLACES IN THEANSWER SHEET USING BALLPOINT PEN (BLUE OR BLACK).

* 3. Youhave to enter your Roll No. on the Test Booklet (—— >
in the Box provided alongside. DO NOT write_L ' q
anything else on the Test Booklet. ,_ o N o
4. © YOU ARE REQUIRED TO FILL UP AND DARKEN ROLL NO., TEST BOOKLET / QUESTION
] BOOKLET SERIES IN THE ANSWER SHEETS AS WELL AS FILL UP TEST BOOKLET /

QUESTION BOOKLET SERIES AND SERIAL NO. AND ANSWER SHEET SERIAL NO. IN THE

ATTENDANCE SHEETS CAREFULLY, WRONGLY FILLED UP ANSWER SHEETS ARE LIABLE
- FORREJECTION AT THE RISK OF THE CANDIDATE. ' :

5. This Test Booklet contains 80 items (questions). Each item (question) comprises four
responses (answers). You have to select the correct response (answer) which you want
to mark (darken) on the Answer Sheet, In case, you feel that there is more than one correct
response (answer), you should mark (darken) the response (answer) which you consider *
the best. In any case, choose ONLY ONE response (answer) for each item (question).

6. You have to mark (darken) all your responses (answers) ONLY on the Separate Answer
Sheet provided by using BALL POINT PEN (BLUE OR BLACK). See instructions in the Answer
Sheet. ' ¢ E S ] ‘

7. (i) All items (questions) carry equal marks. All items (questions) are compulsory. Your

total marks will depend only on the number of correct responses (answers) marked by
you in the Answer Sheet. : : o

(ii) There will be negative markings for wrong answers. 25 (twenty five) percent of
marks allotted to a particular item (question) will be deducted as negative
marking for every wrong response (answer). =

_ (i) If candidates give more than one answer, it will be treated as _a'Wrong answer
even if one of the given answers happens to be correct and there will be same
penalty as above to that item (question). el i

8. Before you proceed to mark (darken) in the Answer Sheet the responses (answers) to
various items (questions) in the Test Booklet, you have to fill in some particulars in the
Answer Sheet as per the instructions sent to you with your Admission Certificate.

9. Afteryou have completed filling in‘all yourresponses (answers) on the Answer Sheet and
after conclusion of the examination, you should hand over to the Invigilator the Answer
Sheet issued to you. You are allowed to take with you the candidate's copy / second page
of the Answer Sheet along with the Test Booklet, after completion of the examination, for
your reference. - : e : -

- 10. Sheets for rough work are appended in the Test Booklet at the end.

. (DONOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO OO s0)
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1. It was easy to realise why the _ 4.  Many of the people in the crowd

; m‘ach.ine had stopfaéd working since were visibly crying because they all

RS A ditect  his — with those who had lost

S i A relatives in the disaster.
failure to maintain it. S .
o (A) resented
(A) Complement :
ey (B) regretted
(B) Concern :

. ~AGY” Consequence

(D) Conviction

(C) rejoined
) sympath_ized :

. 5. Atailor had a number of shirt pieces

; z 2 Lantcompictelyiconiused asitowny to cut from a roll of fabric. Hecuteach - :

she did it and soit’s ”Ot———— - roll of equal Iength'intd 10 pieces. He
~_to imagine _why qthe'r people are cut at fhe_ rate of 45 cuts a minute.
] nﬁystiﬁed, {0 > _ How many rolls would be cutin 24
(A), definite . _ migliies ¢ oo Lo
: : S
_/{) Gl . (A) 32rolls <\>\>
; ; : ) SN
; : I o
(C) debatable | - \22/54 _r° o S
. ; 108 rolls o
(D) decided it . bﬂ{ (o2 @%ﬁ g
ol : _ ) 120rolls R R
3.) lhavegreat___ forthemat ; '

6. Todayis Varun’s birthday. One year |

“thistime begause I have had a similar after, from today he will be twice as

- “experience. old as he was 12 years ago. How old
e ' 'is Varun today ? ; /
(A) sincerity e
; ' e - (A) 20years -
(Ej/sympaﬂ‘y ; " "~ (B) 22years e
: : oh
(C) SOrrow _ e - 25 years 25: é&'\{/' ks
(D) 27years : e
(D) sgdnes_s / e }F‘/\v

KBEZGPer s as Sin il a(2) T ey Contd. -



7.  Ayush was born two years after his
father's marriage. His mother is five .

years younger than his father bu.t 20

- Years older than Ayush who is 10
years old. At what age did the father

get married ?

i

_N/(é/()/23 years 1% 2°
_ Sy
"(B) 25years 27 _
2 . o
jf ¢ (C) 33years > °
e R
= (D) -35 years
@

@ In three coloured boxes —_ Red
Green and Blue 108 _balls ‘are

placed. Thére are tvwce as many

- & balls in the green ‘and red boxes

combined as there are in the blue box

and twice as many in the blue box as'

there are in the red box. How many

o 5 balls are there in the green box ?
- A 18
Blade . o NS -
2% 2e) a5

~AD) None ofthese ;I""

o

9. Ravi’s_brothe_r is 3 years senior to

. him. His father was 28 years of age.

~when h_;'s sister was born while his

mother was 26 years of age when he

was born. If his sister was 4 years of
-age when his brother was born, what
were the ages of Ravi's father and

mother respectively when his brother

Ty

was born 7 o
- 23

| L,M 32 years, 23 years %

(B) 32years, 29 vears

f;\"’_

(C) " 35 years, 29 years

+ . (D) - '35years, 33 years

10. " Inaclass of 60 -étUdents, the number
~ of boys and girls parﬁ_cipating in the
annual sports is in the ratio g0 ]

: s f
respectively. The number of girls not

: : : e
participating in the sports is 5 more R :0 i
‘ ' e
than the number of boys not '
participating in the sports. If the @ &

‘number of boys participating in the ‘
sportsis 15, then how many girls are
there in ihe class ?

(A) 20 0
(B) 25 N

~ (D) Datainadequate

8 f—f:
- KB-2C/26 : Q_f:/n %\} TJ::‘ S ; ( Turn-over-).
; : g T N i : i
| ae e gh& S0~ ¢ NS o
Es ,. @ \C“\::@ T 6O
e >



pi If you write down all the numbers =H{C)A
from 1 to 100, then how many times : "(D) 4
'doyouwrite:_i? - s i
o : 14, Choose the mlssmg term out of the
; \ S
(A) 11 \ s LIS ;
| : 22 'f;) given a!ternatwes
(B) 18 3 ap P :
- : S €0, tyd, ins, xch, ?
._/@/20 e ?;;: ey
: i _ ?576 \/(6/’ mrw
(D) 21 : SO e :
D

12. Choose the mlssmg term out of the

given altematwes

N

@VENTURE _ DVENTUR@,
@WENTUR'?vENTU _

; : \:NWOQ;’_
(A) VENTURE s

(gy/C;NTUR

(C) DVENT

' -\;/QD} DVENTU

13 How many paurs of letters in the word
‘CHA!RS have as many ietters

-between them in the word as in the

alphabet ? L
_)é)/ S R S
® 3
. KB-2C/26

(%)

\/é/ 2o

(© 25N

nrw : MMJ
(C) nsx
(D) | nsw

15. ln the followmg questlon vanous
: ‘terms of an alphanumencal series
are given with one or more terms
missing as shown by (?). C’hbbse the |

mlssmg term out of the gwen

: alternatwes : e
S L
3F, 6G 11! 18L, ? S
o 2,
wat @ \_ 'S\r* IO
(A) 27Q

.(D) 210

- Conid.



- 16.

\_/ KSU

T

In the following question, various

terms of an alphanumerical series

are given with one or more terms
missing as shown by (?). Choose the
missing term out of the given

a_!tématives :

S S G

'BMO, EOQ, HQs, ? V(N
NG \ ke

c’(v.\s'\ﬁ.

‘;"Qs T
@ sov oS tY
© sow
() LMN

In the following question, various

terms of an alphanumerical series

~_ are given with one or more terms.

~ missing as shown by (?). Choose the

' missing term out of the given

a'lter'naﬁves :
S - AU el
[ —Z NN T
Ffac R5F, T8I, V12L, ?

\\//\_‘L_/\__‘_'_/

18.. What will be the next term in the

.follc_)wing_ series ?

"’(—F\\-’”\FH\ :

. BKS, DJT FIU, HHY, .

v@)/JGV_V |

19.

A X :__, \“_%F"J

(B) IGX

A

(D) JGU

in the foilowing question, various

: terms ofan aiphabet senes are given

-MGH,Q

with one or more terms missing as
shown by (?). Choose the missing
term out of the giVé'hféiternatives :
ABN.CD.0EFR27

e

B) WL

G GH

(D) GH,I

20. Find out the two si.g‘ns to be .

interchanged for rﬁak‘ing following

equation correct :

<
/'-b'

e ey : T o = A : i
A X17m SR 5_+3x8. 12+4=3 é)&:z}’,/}
P e Avend= - el T
. (B) X160 Slaaeain . e o
; =2 £l : @Y—andAafq ?&%' = :
) X170 = - X - __
' (C) #andx S e
K ; = 4/;
© o L@ R
. o o : %’1’7/ _ ((3(1‘;:[‘/(‘{.
KB - 2C/26 2 (5) 6""”nj/+ . (Tumover)
X o\//‘} 4



22. The imports were mim‘-murh :

Direction (Q. Nos. 21 to 25) - The
e rti th ft

following line graph gives the ratio of the Do donaletlo e s Porsohine

: i i €ompany in the year : -

amounts of imports by a company to the '

: (A) 1995
amount of exports from that company - ® 1.996l
over the period from 1995 to 2001. \~—/@)/1 9'97
- Ratio of Value of Imports to Exports by a (D) 2000
'. Company Overthe Years : 23 \Whatwaa the percentage increase
of in imports from 1997 to 1998
o] —t4—1.959 2 : %
:f 125 .~ e\\ : // (A) 72 s
124 - . :
2 — /f/ ‘ \\‘1/ (B) %6 sy C oo
0.9+ - 85— : e
B /"\\ e o
0.6 - L £
G o \\‘/ Data inadequate
Aowe it o 6-85 : .
o1 T ——— i i
% . 1995 1505 1997 1898 1999 2000 2007 24 Ifthe rmport_s of the company in 1996
' Years : ' was Rs. 272 crores, the exports from

_ the company in 1996 was :

21 the rports 1698 - Rs. 250 '.
: 5 (A) Rs.370 crores

. { ‘ -}1.'
- > 5 i : \ g ol
s o ?\%{ crores and the total exports in the MS. 350 croras = A
5= years @@E and 1999 together was (C) Rs. 280 crores \ﬁ%« ~a }ﬁq _w
"~ Rs.500 crores, then the imports in (D) Rs.275 crores e e
-/’r” w 1999 was: 25, In how many of the given years were
o "(A) Rs. 250 crores the exports more than the imports 7
o | (A) 1
' \(ﬁ Rs. 300 crores - -
e L Ciibm B
- (C) Rs.357crores - _ © 3
g \(DJ/RS. 420 crores ;%(4
B Kh=oeps . S5 (6) . Contd.
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Direction (Q. Nos. 26 to 29) : A School has four Sections — A, B, C, D of Class IX
students. The resu!ts of ha!f yeady and ‘annual exammat:ons are shown in the table

given below.

Result e ' No. of students

: Section—A |Section - B Section-C I Section-D

Students failed in _ :
both the Exams. 28 £od 17 27

Students failed in
Half-yearly but
~ passed in Annual _ _
Exams. . kg 12 8 a3

' Students passed in
Half-yearly but failed

" in Annual Exams. 5 {7 | gwe 15

_’ Students has_sed in

both the Exams. . o1 | s neis 76

=0 e I

\/(6) Both fhe examihations had

26.  If the number of students passing an

almost the same difficulty level.
exammat;on be considered a ty

criteria for companson of diffi culty (D)  The two examinations cannot

Ievel of two examinations, which of : be compared fordlffculty leve! '

the following statements is truein  27. How many students are'there_ in

this context ? : __ - Class IX in the school ?
(A) Half yearly eﬁ(at;ninétions were - @)/ 336
L mor.e difficult. : (B) 189
(=) Ann-uéll_examinations weré— (C) 335
moTAAEUE SRS R - ieasg

KB-2C/26 e S (Tumover)



28.‘ Which Section has the maximum

pass Percentage in at least one of
the two examinations ?

(A) A Se_ct:o_n

(B) B Section ;

(©)

C Section

D Section

29.  Which Section has the max:mum.

success rate in annug) examl-

hation? = b
j A Section
: (-B)‘ B_Secti_on

(C) C Section

(D) D Section

- 130, Find outthe wrong term in the series -

: 1 el e N g e
2,5,10, 50, 500, 5000
! \%/5'000 ek .' '
@) seg
L © 10
D) 50
31. Find the mlssmg number jn the
serie
7--:‘).\ “\\k\
h// 1, 2 3 10, 2, 9802
; -4 ;
5] e X7
A} 99 ‘M:‘L.q.\ G Q}"\
(B) 1608 = g o
i Bl . e
KB-2C126 '“““}* ‘

. (B)r24
' \\}&/34

34.

i 2z , 7Y7, 14x9 23W11, 34v13 ?
& 7U15 : :

() 299
"(D) 999" | .
32. Find the wrong number in- the
series ; i\ <
3,8, 15,24 @48 63
A 15 Pibain

(D) 48

33, Choose the mlssmg terms outofthe ;

given alternattves :
S, W, o’ TKQ e %o
'7’\

5 %

(&) N,D e
¥ - : 3 \
Mo- Vi aed
- (© oD e
© o %Dlg

In the fol!owmg questlon various
terms of an aiphanumencal series
are given wnth one or more terms
mrssmg as shown by (?). Choosethe :
m:ssmg term out of the glven
alternatwes

B) 47vi4 Ca WS
(©) 45U15 = ‘\7
(D) 27U24 e
' "Co.ntd."
SN - -
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35. 'Choose the missing term out of the

_given alternatives : _
@AYTRIBUTION) TTRIBUTIO

- RBUTQ)IBUTI
(A) IBU
(8) uT
(©) BUT
© un
36. .In the following ciueéﬁdri e'le_tten

series is given, in which some letters

- are missing. The missing letters are.

given in the proper sequence as one
of the alternatlves Choose the
: correctalternatwe
ba_ba_bac_acb_cbac

" (A) bbcd .o o

: e
Mcba _

2. (C) cbac

¥

(D) aaci:

: 37 ; Choose the missing term out of the

given altematives: :
DHL, PTX, BF 2
(A) KOS e f/'/ 9
; S 1
(C) CGK i -_\\f
(D) OK

@u\j‘* N journeyis :

738. In the fdllowing-quesfion, various :

terms of an alphabet series are given
with one or more terms missing as

shown by (?). Choose the missing

‘term out of the given alternatives : '
* AZ,GT. MN, ’?, YB
-_ (A) TS
B sH
. (C) KF
(D) RX
39, Thoitwo trains are runningin same
direction at 80 km/hr and 60 km/hr
_ respectively. The faster train crossed
apassenger snttlng inthe slower traln

m 27 seconds. The length of faster
tratn is :

(A) 220 meters
(B) 200meters
(C) 157 meters
ADY 225 meters .

\("

40. Aman canrowa boat: at4.5km/hrin

still waterto a certain upstream pomt -
and can row backto the startmg polnt '

_/%@-653

o

ina nverﬂowmg with 1.5 kmihr The e

average speed durlng the total

' %i 1 ! (A) 24km/hr \&*6 7\\'(_“-
_ '4km/h__r | 2 -\

- (C) 34kmihr .
(@ skmhr Eel g

ol | (Tumover) :

S e § _
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41. There IS aleakin the bottom ofatfank.

Before the: ieak it could be ﬁHed in
fourand haif hoyrs, Aﬁerleaklttakes :

- half an hour longer If the tank is fu”

the leakage will empty the tank in:
A) 45hours - o
\Jé/ , b\f\i.

(B) 25hours 296 XN

(C). '28 h.ours. ; x 0

(D) 8hours x o _
| 6 Y

42. A BandC enterinto g partnershrp
A invests 3 trmes as much as B
invests and B invests two-thirg of

what Ci Invests. Atthe end of the year
the profit earned is Rs. 6,600. ‘The

Shai’eOfBIS
" (A) Rs.2100 ?
(A) Rs.2, & oo
: D
Jé}/Rs.'x,zoo c);_r*\ &
(C) Rs.1,500 ° QQ(
(D) Rs3160

43. Slmple mterest on a certain amount

~ is9/16of the pnnc:pa! amount, If the

‘number reépresenting the rate of

_interest in percent and time in years

: be equal, then time for which the
principal amountis lent oyt js -

.'\,: 7\(:'

\/L9//1 5/2 years'

(D) 15/4 years
Direction (Q. Nos. 44 & 45) : Each
question given below has a problem and
two statements numbered (1) ang ) g:wng

 Certain information, Yoy have fo dec;de_ _
whether the data prowded in z‘he '

stafements are sufficient to solve the
problem Select the correctone out of the

four given alfematives —A, B, c and D .

that s needed o answer the question,
4. What is the monthly salary of Alok ?
Statements _ s
() Alok gets 15% more than Sumit

whrle Sumit gets 109 less than :

Raman,

() Raman’s monthly salary js
Rs. 2,500. , S :
(A) The data in (1) alone are

-suff:crent to answer the

question

- (B) The data in (l1) alone are .

sufﬂcaent to answer the
questlon

(C) Thedata erther in(l)or (Il aione _

are sufﬂcnent to. answer the

' ‘F\ . uestion _
QM:& data in both (l) and {ll) :
= together are sufﬂc:ent to

(A) 15 years : T
(B) 7years &Q/ f (/f }.S/' %6\ : answer the ques}‘lon
KB-2C/26 ; c Contd.
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45, Who is the immediate right of P
| among the five persons P Q, R S

and Tfacmg North %

~ Statements :

() Risthirdto the leftof Q and P is

e
j second to the right of R.

() Qistothe immediate left of T who

f

is second to the right of P. -

&YV @) The data‘in (1) alone are

e

KB-2C126

sufficient while the data in (1)
aloné are not s:g'ff_i_c_li'ent t_o.
‘answer the question
(B) The data in () alone are
sufﬁciént wh'.ile the data in (1)
alone éré not_sufﬁcfeﬁt to
" answerthe question -
\:/é@)//ﬁ'e data eitherin (1) or (ﬂ) are
'-suffici.ent to. an;w_er.'the
question -

(D) Thedatainboth (yand (il) are

‘sufficient to answer the

question

Direc_:tion (Q. Nos. 46 & 47) : Study the
foh‘owing line graph that shows
Human Resource Indices of an

orgamsaﬂon for the given years and

answerthe questrons ; e

250) = : i __
200 i 7—-(:_#—
150 -

100}

50

% 2003 2004 2005 2006 2007 2008 2009

46. The index in 2008 was what pércent

ofthatin20062
e e
(B) - 150 . -
: : '-._(['{ o\
(€) 2005 - ieo -
: o € :
=\
\H

(D) 50 ' %"Q?’

47 What is the apprommate valueofthe oF

average :ndex’? e s
| e 8o
(A) 130 s\ d
S . - -\’;‘f}( oo
. @ 150 e o
' . wa

(©) 100 e

-:(1'1). e : (Tum._o'ver).
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Direction (Q. No 48 & 49) The 49. In the year 2014 Sura; invested
folfowmg line graph drsplays Annuai Rs.56,000in company . Howmuch

: more or less drwdend would he have
-Dividend's offered py fwo compames ' :
received has the amount been

M and N over different years Study mvested in company 1 2

‘the graph carefully and answer the (A) Rs. 1 640 more
quesz‘fons : ; i - (B) 'Rs..-1,640 less

: : (C) Rs. 1,860 more
) Rs. 1,680 less

Direction (Q. No. 50) - The fo!lowmg Bar
Diagram reflects exports oftea and coffee

(in fonnes) for the yeam201 0. 201 71,2012,
2013 and 207. 4. Refer the dfagram and
ans wer the quest.rons '

2?0'8 2009 201g 2011 2012 2013 2014 2015 2016

e 48 iSwat] investdd Rs. 35,000 in
company N in 2011 After one year,
she transferred the entire amoynt with

dividend to company M in 2012 for

_ one year:What amount wil| be

2010 2011 2012 2014
Teall [coffee =

received, back by Swati mcluding

d e 50, What was the Percentage increase in
ividen
the export of te_a in 2014 from that in

(A) .Rs.49,000. e 20102

‘_(B,) Rs. 49,980 - _ \Jgfgq- /C§{® ,_%ff@/@ ,

40
. (©) Re.48.300 i oo | €0 ‘X;}
_15) Rs. 49,563 e

(D) 35

KB~ 2C/26 e D) o B Contd
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Direction (Q. Nos, 5116 55) : Read the -

following passage and answer the given

questions.

There ére two anéient evils thét scignce,
unwisely used, may intensify : th_ey are
tyranny and war. But | am concemned now
rather with pleasant possibii.ities th.a:n_with
unpleasant 6ﬁés.

Science can confer two kinds of

benéﬁt_s =1t can diminish bad things andit

can increase good things. Let us begin with

the former.

‘Science can abolish poverty and

e'xcéssi__ve hours of labour. In the earliest
human communities, before agriculture,
each human individl;iél required two or
more square miles fo sustain life.
Subsistence was precarious and death
from starvation must have been frequent.
At that stage, men had the same mixture
of misery and carefreé enjoyment as still

makes up the lives of others animals.

KB-2C/26 =

| Agriculture was a teéhniéa'l advance -
ofthe .s'arﬁe kfnd ofimportance as attaches
tomodern maf‘:h'iné indusffy, The Wéy that
égricult_ﬂre_waé used is an awful warning

to our age. It introduced slavery anld

“serfdom, human sacrifice, absolute .

monarchy and large wars. Instead of

raising the standard of life, except for a tiny

governing minority, it merely i_ncreased the
population. On the whole, it probably
increased the sum of human miisery. Itis
not poss)ib'le'tl;at industrialism may take the
ééme course. | .

51. Which of the foz_[cQVing is NOT the
. e of the article ?
\ﬁ Tyranny and war .
.(B)' S possibilities of
_science_r '
(Cy Tﬁe ability. of science to
Gimnefbedinee.
. (D) The ability of science to
inCreése good things .

{ Tumn ovei;- ) :
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52. -According to the'a'rtic[e'human

beings can lessen the quantum of

.iabour if they went back to
(A) Pre—agnculture‘days e
(B If they adopt agricultyral

economy

Use the benefits of science

wisely

(D)" None of the above

53.
true 2

: (A) The condltlon of human befngs

has been reduced to the status

. of animals during t.he modern

age of machine industry

Which of the folfowmg statements is

(B) fndustnalrsm lntroduoes slavery

\/ Agriculture was a technrcal -

o advanoementupon industrialismh
_/D) -Ndneﬁf’theabove =
7 54, A.gra'rian ebonomy. increased the
: surﬁ of hurﬁan misery bécau"s'e. i
(A) You have to mdulge in the

practlce of human sacrifice to

increase the output

KB - 2C/26

(14)

(B) Itwas not used wisely

M resu.!ted in population
explosion -
(D) None ofthe.above'i

55.  Which .of .the following is NOT

men.tioned in -the article ?

(A) Human beings eﬁjoyed the
same kiﬁd of pleasures and
.suffered the same kind"c;f

"mié.‘éry like the animals dluri_ri'g :
" pre-agrarian economy -

(B) Agriculture raised the standard

of the life for so.me_-. hurhan

beingsr

(©) Agrarian economy js more -~

scientiﬁca”y advanced than

Pre-agrarian economy

v// lndustnahsm will Iessen human

misery because it s
- accompanied by democratic

. form of govefnment

: Contd.
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‘ Direction (Q. Nos. 56 to 60) : Read the -

foﬂoMnQ bassage and _answer the
questions given below:

Harnessing the immune system to fight
céncer, long a medical dréam is

' becommg a reahty Remarkable stortes of

The immune system — a network of
cells, tissues and biochemicals they
secrete — defends the body against

viruses, bacteria and othermvadem But

. cancer often finds ways to hide from the

tumours meltlng away and term:naf lf!ness :

going into remissions that last years' —
backed by solid data — have led to an
explosion ;Jf interest and bii_li_ons of dollars
ofinvestments in the rapidly growing field
of immunotherapy. Pharm.af;euti_cal
firms;. philanthrop:ists énd the U, S
govérnment's “can.cer
p;‘og{ram' are pouring. money into
de\-réioping treatménts; Medical
conferences on the topics are packed.
"Hundreds of clinical frials involving
ir_ﬁmunotherapy, alone or combiﬁed with

other tqéatments, are Unciemvay for nearly

: everj/ type ofcancef.

KB -2C/26

moonshot”

immune system or blocks its ability to fi ight.
Immunot_herapy tries to help the immune' :
system to reqognize-cancer as g thi‘eat,,
and attack ijt. A w-idely used type of
immunofherépy involves ldr.ugs that free
immune cells to fight céncer‘by blocking a
mechanism — called a cheékpoint — that
cancer uses to shut down the lmmune
system These drugs called checkpoint
mhnbntors, have been approved by the
Food and Drug Administration to treat

advanced melanoma, Hodgkin lymphoma

and cancers of the lung kldney and

bladder. More drugs i in thls class are in the

pipeline. Pat:ents are clamourmg for

checkporntdrugs, including one, Keytruda,

known to many as “that Jimmy Carterdrug®

which, combined with sﬁfgéry and

“radiation, has left the former President with

© (15)

no sign of recurrence even though

: (Turh over)



melanoma had spread to his liver and

brain.

i
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56. Which of the following statements is

true?

(A) Cancer is a very dangerous

.dlsease because it does not

Spare even a very powerfu!

person like Jimmy Carter, the ;

former President of the United

States

treatm'ent because oillions of
 dollars are being poured into

research -

©

/

57, 'Checfgpomtdrugs have become very

If melanoma spreads to liver
and- brain there will be no

recurrence of cancer

None of the above

popular because :

._/é’/ They nullify cancer’s attempt to

shut down the immune system

KB - 2C/26 :

 There is improvementin cancer

- 59

(16)

(B) You db not have to suffer the
_pain of surgery and radiation
- during treatment

(C) Food and Drug Administration

has approved its use

None of the above

(D)
58. Keytrudais:
(A) A particular type of disease

wrth which Jlmmy Carter was

sufferlng from

Q/y/ The name of adrug thatis used

to treat cancer patients

(C) Another version of Hodgkin

lymphoma
- (D) Noneofthe above

Immunotherapy: .

(A) Marks the end of human
dependence on drugs during :
cancer treatment

(B]/ Augments the ability of human

immune system to fight canoer :

ce.lls

(C) Creates ‘checkpoints’ againet

cancer cells '

None of the above

(D)

Contd'.
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" 60. ‘Cancer moonshot’ program :

Missy was one of them I knew we had

(A) Is a philanthropic initiative by -

US government :
(B) Is sponsored by pharma-
- ceutical firms to h’otld'medical
conferences on immuno-

: herapy So
: \)/Channelizes resources into

. research on the development of

chosen each other,

The next day, | anxrogsl’y awaited the class,
After the bell rang, Missy and | stopped

~ talking as Mrs. B called for our attentlon

She started to call out names. When she

" reached group three, Missy’s name was

cancer treatment th‘rough ;

2 immunotherapy
(D) None ofthe above
Direction (Q. Nos. 61 to70): Read the
foﬂowing iwo passages and answer the

questfons that follow each passage Your
answer to these questions should be

_based on the passages only.

Passage — |

~ lwas sitting nextto Missy in my ninth-grade

world history class when Mrs: Bartleft

_announced a new project. In groups, we
- wefe to create a newspaper around the
-~ culture we were studying.

of three friends we wanted in our group
After. collectmg ali the requests, Mrs. B
informed us that she would take into
consideration the names we chose and

~ would let us know the resuits the nextday.

I'had no doubt | would gét the group of my

- choice. There were only a handful of

sociably decent people in the class, and
KB - 2C/26 :

- On apiece of paper, we wrote the names

called. So I'm in group three, | thought. The
second, third and fourth members of the
group were called.” My ‘'name was not
included. There had to be some.mistake |
Then | heard it. The last group : "‘Maﬂro, :
Juliette, Rachel, Karina.” | could feel the : 2
tears well in my eyes. How could that went
down to her ankles, and the 6ther girl who
wore welrd clothes. Oh, how badly | wanted
to be with my frlends

| fough_t back tears as | walked up to

Mrs. B. She*looked at me and Krigw

what [ was there for. | was determined to

convince her | should be in the “good”
group. “Why... 2" | started: "

She gently placed a hand on my shouldsr.
“l know what you want, Karina,” she said,

“but your group needs you. | need you to

help them get a passing grade on this

assignment. Onlyyou can help them.”

‘| was stunned. | was humbled. | was

: (17)'

amazed. She had seen somethrng in me '
lhadntseen :

(Turn over)



N4 VAN - 10S

Exclusive Coaching for UPSC/OPSC/PSC

. “Willyou help them ?” she asked

I stood straighter. “Yes 2| rephed I could’t
believe it came out of my mouth, but rt did.
| had committed. :

61. The new project was for -
Launching a magazine :
Creating a ne\f\rspaper for
culture
(Cy Ahrrouhcing.a new cultyre
(D) Creatinga newspaper for fun
62. Missy was included in the group of :
' (A) Mauro :
"(B)  Karina |

(C) Juliette - _
\/‘&Noneoﬁhem

63. Karina did not like her group

Z becausel:

() The Qirf could not speak English

= YB): The_boywasshabbilydressed
\'/yShe wanted to join Missy’s

group

(C) Was confused’

\/(fJ)/ Could help the students in her

* group

85. Karina was stunned because -
(%) Shewas hurt
?)/ Her teacher had identified her
leadership potentiaj
(C) She could not join the group of
her choice '

(D) Shegota Passing grade

- Passage — i
One miserable rainy night, a man named
Mark decided to end his fife. In his mig.
fitties, Mark had never been married, had
never' expenenced the joy of havmg
children or spendmg holidays ‘with his

. family. Both his parents had been dead for

sevenyears. He had a sister but had lost

contactwith her. He held a menial job that

- left him unfulfilied. Wet and unhappy. he

: (D-)‘ The other girl used to wear

miniskirt’ ;
64 Theteacher Mrs B put Karina i in that

partrcular group because Karma

(A) Started crying
(B) Wantedtobein another group

KB-2C/26

walked the streets feeling as if there w /as
nobody in the entire world'that cared if he
lived or died.

On that same soggy night I was sitfing in -
My room watching the rain hit my wmdow I

was six years old, and my |ife revolved

' around my Star Wars achon flgure

- (18)

collection. lwas dreaming ofthe day when :

Contd.
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I'dhave eamed enough moneyto add Darth

Vader to my new collector’s case. To help -

me make money, my father paid me to jog
with him. Everyday, at seven o’clock, we

jogged together.

And everyday, | was fifty cents closer to

gemng Darth Vader.

When | heard the doorbell ring, | jumped
from my chair and raced out of my room fo
* thetop ofthe sieps. My mother was al}'eady
atthedoor. y

Opening it, she found herself face-to-face

with a very disheveled-looking mah wit'h ‘

te‘ars-st_reami_ng down his face. My i'ri'other,
overcome by pity; invited the man inside,

~andhe satwith my parents in 6ur!iving room.

Curious, | snuck downstairs so that | could

geta better look. | couldn't understand what -

they were saying, but the sight of the

rumpled man, hé!ding his head in his hands

and érying, made my chest ache. | raced
back upstairs to my room and stuck my
. hand into my money jar. Pulling out the
Kennedy'half—dolfar | had earned that'day; I
ran back downstairs. :
When [ reached the door of the i;vmg room,
~ Iwalked right in. The three adults looked at
me in surprise as | quickly made my way

over to the stranger. | put the half-dollarin

_his hand and told him that | wanted him to.

KB-2CI26 . . - =Y

have it. Then [ gave him a hug and turned
and ran as fast as | could out of the room -

‘and back up the stairs. | felt embarrassed
but happy.

. Downstairs, Mark sat quietly with his head

bowed. Tears streamed down his face as

- he tighﬂy clutched that coin. Finally looking

up at my parents, he said, “It's just that |
tﬁought nobody cared. Forthe last twenty
years, | have been so aione. That was the
first hug | have gdtten in—| gon’t know .

how. long. It’s hard to believe that

somebody cares.

66. Mark wanted to end hls I:fe'-
because :

r\_/é/)/e felt extremely dejected

(B) His parents had died
(C) He had only one sister
(D) Hewas jobless

67. Thatlittle boy was fond of : |
(A)  Watching 'rain

| \_/485/ Darth Vader f;gure

(C) Money
(D) Jogging
68. The visitorwasa:
@A) Family friend
“(B) Robber

\/('C/ Needy person

N (B)5 Neighbour

. (Turnover)
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69. The little boy gave the visitor his -
(Af Money i
(B) Food
(€) Toys
(D). Star War action figure
70. " Why did Mark cry?
) Hewas in physical pain
(B) He had not eaten fordays =

(C)~ He was unmarried ;
by ) He was grested with love and’

> care

71. A leader has the ablhty to mﬂuence

others through quahtles such as
personal e expertfse

. Command of language, and the
creatlon of mutual respect — all of
which require strong interpersonal
skills.

(A) aura .
\/(g) charisma
~ (C) elan .

+ (D) machismo

' 72, Interpersonal skills include. the

abilityito B e e o manage

the €motions, motivations, angd
_behaviours of oneself and other
dunng social mteractlons or in a
somal interactwe context.

(A) feel
( read

KB -2C/26 = oy

‘ _F’h 

(C) suss
(D) view

73. Those who have interpersonal skills
are able to manage their behawour

during social interactions and align
their goafs to the goals of others

dunng ——_ aclivities.
(A) cohesive

\/B) collaboratlve
(C) colrocatlonal

(D) concessive

74. They ere able to empathize and are
sensitive to the needs of others and
tothe forces that-._____ the way
that others feeland behave.

(A) bend
(B) mar
(Cj mend

. c’/D) shape

75. Modern teamwork often brings-
together individuals from diverse
groups who may not share common
nerms values, or— _ _ but
who do offer unigue expertise,
insights, and Perspectives.

(A) accommodatrons

(B) cubicles

(C) - salaries :
V({ vocabularies

Contd.
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| sensitivity to the __

(A

76. E-mail, voice mail, audio conferen-

VANIK- 1S
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cing and video conferencing, and the

myriad other technologies that

enable individuals to communicate

with each other not only incréase the

ways in which individuals can inferact

but also require a heightened

interpersonal interactions.

innuendos

-.(B) naivete

%uanoes i)

77.

.~ expressions, or body _

¢

(D) repartee

This idea is particularly true in the
worlds of wrtual learning and wrtual
communication, where one cannot
yet use hand gestures, facial

to

fully express ideas.

\% language

(B) movement

(C) poses

: (D)i poéitidns

of

78. Thechallengeisto.

__inter-

personal skills not only in face-to-face

interactions but in virtual iﬁterc—_gctions

as weil

\/(A/ perfect

79,

- (B) . perform
(C) i produce
(D) 'Lproject 5

As th_e_-bolicg- s'a-vy} the_ accident

: themselves, the dri.ver avoided the
—— of having to give a

detailed report.

(A) need

(B) requirement

(Zf indictment.

\/(D') nece331ty

80.

it's a comp‘lete waste of time
over who was to blame,
the main thing we have to do is

decide what to do pext‘-

\/ﬁarguing

(©)
@)

(B) discussing

‘repeating |

conéiden’ng

KB -2C/26
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OCS PRELIMINARY EXAMINATION 2018-PAPER-2
ANSWER KEY (SET-C)

1 C 41 A
2 B 42 B
3 B 43 C
4 D 44 D
5 D 45 C
6 C 46 A
7 A 47 D
8 D 48 D
9 A 49 D
10 © 50 B
11 C 51 A
12 D) 52 C
13 A 53 D
14 A 54 C
15 B 55 D
16 A 56 D
17 C 57 A
18 C 58 B
19 C 59 B
20 D 60 C
21 B 61 B
22 C 62 D
23 D 63 C
24 B 64 D
25 D 65 B
26 C 66 A
27 D) 67 B
28 D 68 C
29 A 69 A
30 A 70 D
31 A 71 B
32 C 72 B
33 B 73 B
34 A 74 D
35 B 75 D
36 B 76 C
37 B 77 A
38 B 78 A
39 D 79 D
40 B 80 A
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(DO NOT.OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO S0}

Test Booklet Series T.B.C.: CSP -18/2
TEST BOOKLET Sk 2 P54 ﬂg
GENERAL STUDIES PO JLBY
PAPER - II 2
ﬁ'ime Allowed : 2 Hoursj _ (Maximum Marks : 200)

: INSTRUCTIONS TO CANDIDATES :
1. *IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU ‘SHOULD

CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING
PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST

BOOKLET OF THE SAME SERIES ISSUED TO YOU. = :

.2 ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D,AS THE CASE MAY BE, IN THE
APPROPRIATE PLACES IN THE ANSWER SHEET USING BALL POINT PEN (BLUE OR BLACK).

3. You have to enter your Roll No. on the Test Booklet | e :
in the Box provided alongside. DO NOT write [ WU : ‘ ]

* anything else on the Test Booklet. i :
4. YOU ARE REQUIRED TO FILL UP AND DARKEN ROLL NO., TEST BOOKLET / QUESTION

BOOKLET SERIES IN THE ANSWER SHEETS AS WELL AS FILL UP TEST BOOKLET /
QUESTION BOOKLET SERIES AND SERIAL NO. AND ANSWER SHEET SERIAL NO. IN THE
ATTENDANCE SHEETS CAREFULLY. WRONGLY FILLED UP ANSWER SHEETS ARE LIABLE

FOR REJECTION AT THE RISK OF THE CANDIDATE. v

5.  This Test Booklet contains 80 items (questions). Each item (question) comprises four
responses (answers). You have to select the correct response (answer) which you want
to mark (darken) on the Answer Sheet. In case, you feel that there is more than one correct
response (answer), you should mark (darken) theresponse (answer) which you consider

. thebest. Inany case, choose ONLY ONE response (answer) for each item (question).

8. You have to mark (darken) all your responses (answers) ONLY on the separate Answer ;
Sheet provided by using BALL POINT PEN (BLUE OR BLACK). See instructions in the Answer g
Sheet. - : : ?

> : : : |

7. (i) All items (questions) carry equal marks. Al items (questions) are compulsory. Your S

total marks will depend only on the number of correct responses (answers) marked by
you in the Answer Sheet. _ R

(ii) There will be negative markings for wrong answers. 25 (twenty five) percent of
marks allotted to a particular item (question) will be deducted as negative
marking for every wrong response (answer). :

(ii) If candidates give more than one answer, it will be treated as a wrong answer
even if one of the given answers happens to be correct and there will be same
penalty as above to that item (question). i !

8. Before you proceed to mark (darken) in the Answer Sheet the responses (answers) to

; various items (questions) in the Test Booklet, you have to fill in some particulars in the
Answer Sheet as per the instructions sent to you with your Admission Certificate.

9. After you have completed filling in-all your responses (answers) on the Answer Sheet and
after conclusion of the examination, you should hand over to the Invigilator the Answer
Sheet issued to you. You are allowed to take with you the candidate’s copy / second page
of the Answer Sheet along with the Test Booklet, after completion of the examination, for
your reference. : ety - :

~ 10. Sheets for rough work are appended in the Test Booklet at the end. -
(DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO so| (L\/
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1. If you write down all the numbers (G)= 1
from 1 to 100, then how many times (D) 4

do you write 3 ? : =
' 4.  Choose the missing term out of the

3 w9
A 1 12 55 -
; 2 55 given alternatives :
Byls L isnnt & _
%5 6 _ ' €jo, tyd, ins, xch, ?
ey 20 %:% : = : !
& 59 I By mnw -
(D) 21 e _
(L ; (B) nmw
2. Choose the missing term out of the -
T : = e (C) nsx
given alternatives :
: (D) nsw
L A_DVEN-TURE,, ADVEN‘TURE,1 -
A DVENTURE?, VENTU. _ In the following qUeSt'ion_,.va'r'ious
: ' e v ;
(A) VENTURE : : ~ terms of an alphanumerical series

B) VENTUR are given with one or more terms

missing as shown by (?). Choosethe

(C) /DVENT g _
' missing term out of the given
(P) DVENTU _ : Lnxt _f_%“‘_(?_ '
. ; i

 altematives i als e

3. How many pairs of letters in the word _ W 2 ‘
_ : e - 3E,6G, 1], 18L, ?
‘CHAIRS' have as many letters - %}I Lf” i N

“between them in the WOrd as in the

~ alphabet ? ¥ Fapn 27P
. J2 : : ' (C) 25N -

®) 3 i - , (D) 210:

A

KB-2D126- ) S Contd.
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In the following question, various

terms of an alphanumerical series .

are given with one or more terms
missing as shown by (?). Choose the
missing term out of the given

alternatives :

e :
s MO, EOQ, HQs, ?
' &;/Ksu :
~ (B) .SQV_
(C) SowW

(D) LM

... terms of an alphanumerical series

...are given with one or more terms

missing as shown by (?). C_hoo_se the

missing term out of the given

aitematlvew (—\ 17
P3G RSF, T8I, 12, 2

(A X17M™

(B) 7‘(16Q-
g
©) ¥rrq.

KB = 2D/26

“In the following question, various

What will Be the hext term in the

" following series ?

BKS, DJT, FIU, HHV,,_;JEQJ-
@) WX

(B) IGX.

- &yFlew.
(D) Jou

" In the folfoWing' q.ueStioh, various
_terms"of an élphébét' series are given -

with one-or more terms missing as

shown by (?). Choose the missing

ferm out of the given alte('native's :

A.B.N,C.D, 0 E.E P22 X

@ GHa

- (B) J,k,L :

w/a H, J

(0) GHI-

(Tum over):
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Dfrecﬂon (Q. Nos, 10 fo 14) The -

followmg Ime graph gives theratfo of the

amounts of imports by a company to the

amount of ex,bon‘s from that company

: over the penod from 1995 to 2001

Raho of VaIue of lmports to Exports bya

Company Over the Years

. The imports were minimum
i proportic)nate to the exports of the

: company Inthe year
) 1995
® 199
7 1997
. (© '2000'
f2. What was the pereentage increase
: ~inimports from 1997 to 1998 2.
A) 72 2
(B) 56

e T
(D¥-Data inadequate

13, Ifthe imports of the compeny'in 1996

t -' t t i f t
1995 1ggg 1997 1998 1999 .2000.2001
Years ' :

10. If the imports in 1998 was Rs. 250

crores and the total exports m the @

years’ 1998 and 1 999 together was

Rs 500 crores, then the i imports in

1999 was : :
-(A) RS. 250 crores
iﬁ/ Rs. 300 crores

) Rs.420 crores

KB -2D/26

was Rs. 272 crores the exports from

the company in 1996 was :
'. (A) Rs cr_ores
| Rs. 320 crores
: (C)l Re. 280 crores
'(D)_' : Rs. 275 crores
' 14. " In how many of the given years were
the exports more than the rmports ?
A)
(B)/ 2
it (é) 3

@ e Contd
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Direction (Q. Nos. 15 to 18) : A Schoc'._i.v‘ has four Sections — A, B, C, D of Class IX
students. The results of half yearly and annual examinations are shown in the table

examination be considered a

criteria for comparison of difficulty

level

 the following statements is true in

of two examinations, which of .

”'-this contex't.g? B

A)

(B)

16.

Half yearly examinations were

more d ifficult

Annual examinations were

- -more difficult. :

KB —=2D/26

given below.
Result _i\lo. of st_udénts
' Section—-A |Section-B Seétjon —C | Section—-D 51
Students failed in _ ' o
“both the Exams. 28" - 23 i 27 CI g
. Students failed in :
Half-yearly but
passed in Annual : _
- Exams. 14 12 8 8= :’-qt}
Students passed in
Half-yearly but failed o
in Annual Exams. 6 17 9 -5 Lir];
2 z L ™ 2 Sy e ¢
- Students passed in ! ]
: ; i 92, ' :
both the Exams. 64 55 4e¥mBIE ge - | 900
15. ‘If the number of students passing an Both the examinations had :

almost the same d_ifﬁqul_ty'levei.
(D) The two examinations cannot

be compared for difficulty level.

How many 'stud_ent_é are there .in
Class IX in the school ?
(A) .336"
(B) 189
(C) 335
430

('Tum over)
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17. - Which Section has the maximum 20. Flndoutthewrongterm inthe series :

pass percentage in at least one of 5E 520 5000
the two examinations ? g
5000

(A) A Section :
: B 500
{B) B Section ( ) oA
(C) Sectlon ; o) 0
' (D) 50

Ji(E) Sectlon

. 18. Which section has the maximum ~ 11. Find the missing number in the

success rate in annuai examl- sertes
| : . natlon‘? i BE 2 3, 1 2 9802
. B BSection 4
: e e (B) 199
~ (C) . C Section :
" (C) 299
(D) D Section sl
| 1 (D) 999

j- 19. “Find out the two signs to be

§ : 22. Find the wrong number in the
interchanged for making following .

§ senes
equation correct : " i
5+3x8T12.4=13 | 3,31 1%24.34,48, 63 _
E—2 XSy - . A L %{j
 ORD+S2M L ¢ Jr.2Y ¢
: AL | o 64 t5e (B) 24 %;:JL'TJLO—IJLEJ
O i g 1945 5 '
tandA N (D) 48

KB=-2D/26 o @ ~ Cond.
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23. - Choose the missing terms out of _thé

given alternatives :

zswéT & &7,3

% 2% l‘v .
(A) ND . O

(,/ N.C
(C) O,D
(D) 0,¢

24. In the fo’l,!owing .question, varioﬁs
‘terms of an .alphanumerical series
are give_n' wi_th one or more terms
missing as éhown by (?). Ct_]p_o'se the
missing term out of th.‘e”given
alternatives : |

275, 7Y7, 14X9, 23W11, 34V13, ?

w/zwms
;>A:7v14

(C) 45U15

(D) 27U24

25. Choose the missing term out of the

UIP Cg ‘given alternatwes

| &/
LY

ATTRIBUTION | @T’IR!BUTIO&D
~<RIBUTIO, IBUT!. o

(A) 1BU

&N‘lﬁl by

(C) BUT

@ un

26. In the following question a Ieﬂe’r—
series is given, in which some letters
are missing. The_-missiné letters are

. givenin the proper seqﬁenoe asone
of the alternatives. -Cho'ose_, the

correct alternative :
bacbacbackacbacbac

CLCba
(A) bbca :

_ i |
‘Ma ;
(C) cbac

(D) aach

| ? Choose the missing term out of the -

given al_ternatives' :
b J
‘EJH : I:’TX, BEJ:2
)
(A) KOS
\(.BARV
(C) CGK

(D) OK

KB._'zafza' '9- 10( ﬂ’@OL o)
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28. In the following question, various

terms of an alphabet senes are given

; (C) 3.4kmihr
with one or.more terms mlSSJng as S ‘
shown by (?). Choose the m:ssmg_ o (D)_ Skm/hr
1 term out of the iven alternatwes G i
g9 31. Thereisa leak in the bottom of atank.
- AZ, GT MN 9 YB - :

Before the leak, it could bé filled in

By Tseo i '
' \(E"/S HJ : _. : fourand halfhours Aﬁerleakrttakes

half an hour longer If the tank is fuIl :

b (C) KF% |
A (D) RX i fheleakage w:ﬂ empty the tank in :
. Thetwo trams are running in same (_ 45 Hels 7 1 Q\
direcnon at 90 km/hr and 60 km/hr ' (B) 25 hours
_ respectlvely The faster train crossed ( C) 2 8 hours
a passenger sitting in the slowertrain ;
in 27 seconds. The length of faster (D,) Shours
LN Gaiiss ok 32. A Band Centerinto 4 partnership.
?JJ (A) 220 meters e 6 =94 7(%'7 A invests 3 times as rﬁi;ch- as B .
: bz B) 200meters = | qg o : : : :
/\' @‘9{\/ of ( ) : %E - 3 invests and B invests two-third of
G2k o b 57 meters oA =
L : - what C invests. At the end of the year -
*/‘i(o (Df-225 meters +
0 g “{\ ) : the profit earned is Rs. 6,600. The
' 44.30. Amancanrows boatat 4.5 kmyhrin - ¢
gﬁf‘/ GaT : shareofBIs b = @'2
. still water to a certain upstream point = KE.5¢
vy’ & sodo0. A 7 zfﬁ
and can rowbacktothes;artnng point - ¢ e
ina riverﬂowin'g with 1.5 km/hr. The )Br - BB QL
average speed durin the total S - A
. 7 (C) " Rs. 1,500 15 = ~’§’
journey is : ‘ ot e : C=n
e , ' D) Rs.3,160 ;
A) 2 | ( '
(A) 24 km/hr : : %w | %er% =t
KB-2D/26 s e Conta.
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g

N j /
T e i _
Q 33. Simple mtereston a certain amount
is 9/16 of the principal amount. If the
.number representing the rate of
; interest in percent and time in years
Q \50 60 be equa! then time for which the
SNeE O

Gg(A) 15 yea rs

oY

- (C): Thedatasitherin (1) or (Il) alone

_are sufficient to. answer the

The data in both () and (i)
- together are sufflcnent to

p answer the questaon

g el 5
2\ Q= i 35. Who is the immediate right of P
1572 years e among the five persons P, Q, R, S
XD e @5 ' :
% Y i : and T facing North ? ?a.
5 ﬂ Sy Q] Nos. 94:8:35): Eaoh. |~ glstnita | R = ’P at
ti below h blem and - ' : - :
deesonaivonbelow has & problerm an () Ris third to the left 6f Q and P is
two statementsnumbered(ﬂ and (1) gtwng e o e ; :
certain information. You have to decide S seeonq jo nelgn Of_ R :
 whether the data provided in the e (I Q is to the immediate left of T who
statements are sufficient to soive the s second to the right of P.
problem. Selec_;‘ the,cqrrectone outofthe e ( A) The data in (I).alone are
four given alternatives — A, B; C and D %
o _ sia e sufficient while the data in ().
‘that is needed to answer the question. a ; 3
lone a ot sufficient t
34 What is the monthlysalaryofAlok‘? eon A : i)
the questiol
Sta i answer the ques ion . .
) Alok gets 15% mora 'th'an Sumit (B) The data in (Il). alone are
- while Sumit gets 10% less than sufficient while the data in (1)
. Raman. : - alone are not sufﬂctent to -
- ()Raman’s monthly salary |s:- ' swerthequestlon
Rs. 2,500. (GY' The data either in (1) or (Il) are
(A) The data in (1) alone are . sufficient to' answer the
sufficient to answer the
questlon :
question . ;
(B) The data in (Il) alone are & (D) Thesatly St (hang (Il)are--
sufficient to answer the - sufficient to answer the
question P ; questIOI'l
KB - 2D/26 Q — ﬂ-r (9) (‘Tum over)
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- Direction (Q. Nos 36 & 37) : Study the Dlrect:on (Q. No. 38 & 39) The
foh’owmg line graph that shows fo!lowmg line graph displays Annual
Human Resource IndICG‘S of an Dividends offered by two companies
= ~__ organisation for the given years and - M and N over different years. Study'l
answerthe queétiOns. v the graph carefully and answer the
: s : questions, S
294 : - : : . ;
\ é&?" = | 73—4“——— e ﬂACort\palmyl‘uT —A—Company N
o e ol 1]
1%'0 . : & NE
g | o— ; S 15 4 :
% . T Y J N
10 — :
o - = — g
2003 2004 2005 2006 2007 2008 2001‘] 5
f : 0 - - (})(
M e P ) 2008 2009 2010 2011 2012 2013 2014 2015 2016
ol 36. The fndex in 2008 was what percent ggﬁ
: £ -.. ,/-

{‘;”‘7‘"20067 38 Swati invested Rs. 35,000 in
: %X/ oo ~ company N in 2011. After one year,
(B) 150 /- _ she transferred the entire amount with

. M’-’W 235 -
_(Cy200 -{w’ _ ﬂ dividend to companyM in 2012 for
& 4 (D)L 50 ‘i : i ~one year. What amount will be

recelved back by Swatj mcludmg

37. Whatis the approximate value of the

average index ? . e ‘. \- b\‘ dividend? EﬂU}
mombgGs o ol
: > (A) Rs. 49,000 Qf’% :
. (B) Rs.49980 - 3 “0{5@‘5
' . 0

(CY Rs.48,

Rs. 49,563

KB - 2D/26 e g

Contd.
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39. In the year 2014, Suraj invested

40. Whatwas the percentage increase in

Rs. 56,000 in company N. How much

more or Iés_s dividend wou.Id hé have
‘received has the amount been
invested in corﬁpany M?
“(A) Rs. 1,640 more \/p

(B) Rs.1,640less -

(C) Rs. 1,860 more)

Rs. 1,680 less

Direction (Q. No. 40) : The following Bar _

Diagram reflects exports of tea and coffee

(in tonnes) forthe years 2010, 2011, 2012,

the export of teain 2014 from thatin .
20107

: (A) 90

© 20

(D) 35

Direction (Q Nos. 41 to 45) Read the
fo!lowrng passage and answer the g,'ven

guestions.
There are two ancient evilé that science,
unwisely used, may intensify : they are

t(yran’ng and war. But | am concerned now

rather with pleasant possibilities than with

2013 and 2014. Refer the diagram and

answer the questions.

1600

B | e

400
300 |-

| 200 o 67 A470--

I 46980 gl [
2 14»7 13 B -

100

0

2013

2012
Tea . [JcCoffee

2010 201 2014

«M”
KB - 2D/26 Q- gc@’

| %@"‘Wb\ &
7 g\ 2

4

=

(11)

SRV
.\j\ﬂ,‘“\

unpleasantones.

Science can confer two kinds of

benefits : It can diminish bad things and it

canincrease good things. Let us begin with
——___.—___————* 3

the former.

Science can abolish poverty and
excessive hours of labour. In the earliest
human communities, before agricuituf_e,

each human individual required two or

( Turn over )_
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Mmore square: miles to sustain life.
Subsi.sfence was precarious and death
from starvation must have beén frequent.
Atthat stage, men had the same mixture
of misery and carefree enjoyment as still
makes up the lives_ of others animals..
Agriculture was 3 technical advance
of the same kind of importance as attaches
to modern machiﬁe indﬁstry. The way that

agriculture was used is-an awfy warning

to our age. It introduced slavery ang

sérfdorﬁ, human sacrifice, absolute
monarchy and large wars; Instead of
| raising the standard of life, except fora tiny
'goverhing minbn'ty, itmerely increased the
populaﬁon. On the whole, it probably
mcreased the sum of human misery. It is
not possmle that industrialism may take the

same COLH”SG.

41. Which of the following is NOT the

main focus of the article ?

¢ Tyranny and war

- (B) Pleasant Possibilities of

science

KB=2D/26

42.

43.

(12)

(C) The ability of science to
- diminish bad things
(D)'/l‘he ability of science to

increase good things

According to the article human '
bemgs can lessen the quantum of

labour if they went back tg -
(A) Pre-agriculture days,

(B) If they adopt agricultural

onomy iy :
\(I/z:e the benefits of science

wisely

( D). None of the above

Which of the following Statements is

true ?

(A) The condiﬁon of human beings
has been reqd uced to the sta_t_us
of animals- during the mod_erﬁ
age of machine industry

(B)  Industrialism introduces slavery

(C) %g n'éulture was a tec;hniéal
advancement upon industﬁalﬁsm

) None ofthe above

* Contd.
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44. Agrarian economy. increased the

sum of human misery because :

(A) You have to indulge in the

practice of human sacrifice to

increase the output

(B) ltwas not used wisely
@)/It~resulted in population
explosion &

(D) None of the above

45. Which of the following is NOT

mentioned in the article ?

(A) Human beings enjoyed the

same kind pf pleasures and
suffered the same kind of

~ misery like the animals dL‘Jring

- * pre-agrarian ecénomy .

(B) Agriculture raised the standard

of the life for some human

beings \/

(C) Agrarian economyi is more

scientifically advancewan o

pre-agrarian economy

KB - 2D/26

&)/Industriaﬁsm will lessen human
/-’_ A : .
- misery because it is .

éccompanied by dem_ocratic

form of government

Direction (Q. Nos. 46 fo 50) : Read the
following passage and answer the
questions given below.

Harnessing the immune system to fight

-

‘cancer, long a medical dream, is

becoming areality. Remarkéble stories of

tumours melting away and terminal illness

. going into remissions that last years —

backed by solid data — have led to an
explosion of interest and billions of dollars

of invéstmen_ts in the rapidly growing field

-of immunotherapy. Pharmaceutical -

e S T pren
R —

_firmé, philanthropists and the U. S.

government’s “‘cancer moonshot”

program are pouring money . into

developing treatments. _M'edi-(:ai e

conferences on the topics are packed.

(Tum over)
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Hundreds of clinical trials mvolvmg

, immunotherapy, alone or combined with

other treatments, gre undenmay for nearly
every type of cancer.”

The immune system —a network of
ceHs fiss ues and blochemlcals they

secrete — defends the body against

'_wruses bactena and other mvaders But
o cancer often ﬁnds ways to hide from the
: lmmune system or blocks its abihty to fight.

-' lmmun'btherapy tnes to hetp the rmmune

‘and attack it. A W|dely used type of

known to many as "thatJimmy Carterd

which, combined wtth surgery
radiation, has left the former President
no sign of recurrence even thou
melanoma had spread to his liver a

brain,

46.  Which of the following staiements

'.system to recognrze cancer as a threat :

: lmmunotherapy mvolves drugs that free

Immune cells to fight cancer by blockrng a

: mechamsm — ia_"‘ﬁéﬁhe_dcmnt- that

cancer uses to shut down the immune

: system These drugs, catled checkpomt

rnhlbrtors have been approved by the

'_Food and Drug Admmistratlon,__t[eat

=

advanced metanoma Hodgkin !ymphoma

-and cancers of the tung kldney and

_bladder. More drugsin th is class are in the

pipeline, Patients are clamounng for :

checkpomtdrugs rnctudrng one, Keytruda

KB - 2D/26
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true?
(A) - Ca.ncer is a very danQerou
S disease because jt does no
sp'are even avery powerfy
: person like Jimrny Carter the
former Presrdent of the Umted
States
(B) There is. improvement in cancer
treatment because 'bil‘lions of
dollars are being poyre into |
v :

research

(C) If melanoma Spreads to liver -
-and brain, there will be no

recurrence of cancer

Dy None of the above

Contd.
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47. Checkpoint drugs have become very
popular because :

: (A They nullify cancer’s attempt to
shutdown the i immune system

(B) You do not have to suffer the
pain of surgery and radiation
during treatment :

(C) Food and Drug Administration
has approved its use=—

(D) ' None of the above
48. Keytrudais’: _
(A) A particular type of disease
' with which Jimmy. Carter was
: ffering from i |

&/ls':e name of a drug that s used
to treat cancer patients

(C) Another versmn of Hodgkm
lymphoma 7

(D) None ofthe aboye

49. ‘Immunotherapy :

(A) Marks the ‘end of h'umen
- dependence on drugs during
ncertreatmenf =
- @ﬁ:gmente the ability of human
' immune system to ﬁght cancer
'cee '
(©) Creates checkpomts agamst
cancer cells S
(D) None ofthe aboys

KB - 2D/26 o 15

50. ‘Cancer moonshot’ program ;

(A) Is a philanthropic initiative by
US government )‘0

(B) Is spon_-sored'by pharma-
ceutical firms to hold medical
conferences on immuno-
thefapy '

(C)” Channelizes resources into

7 research on the development -

of cancer treatment through
immunotherapy

(D) None ofthe above

Direction (Q. Nos. 51 to 60) : Read the
following two paesag_es and answer the
questions that follow each passage. Your
answer to these -questions shou!d be_
based on the passages on!y
Passage ~1

| was sitting next to Missy in my ninth-grade
world history class when Mrs. Bartlett
announced a new project. In groups, we

‘were to create. a newspaper around the

culture we were studylng

On a piece of Paper, we wrote the names
of three friends we wanted i in our group.
After collecting all the requests, Mrs. B
informed us that she would take into

 consideration the names we chose and

would let us know the results the next day.

‘I had no doubt I would get the group of my

choice. There were only a handful of
sociably decent people in the class, and

. e

) (-Turn over)
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Missy was one of them. | knew we had
chosen each other. :
The nextday, | anxiously awaited the class. -
After the bell rang, Missy'and | stopped
talking as Mrs. B c;a”éd.for our attention.
She started to call out namés._ When she
reached group three, Missy’s name was
called. So'min group three, | thought. The

- second, third and fourth members.of the
group were called. My name was not
included. The;;e had to be some Mmistake |
Then | heard it. The last group : “Mauro,
Juliette, Rachel, Karina.” | could feel the
tears well in my eyes. How could that went
.down to her ankles, and the other girl who-
wore weird clothes. Oh, how badly | wanted -
to be with my ffiends. |

| fought back tears as | walkeq up to
Mrs. B. She lboked at me _énd knew
what | was there for. | was determined to
convince her | should be in the “good”
grbup. ‘Why... ?”| started. : ;
She gently placed a hand on my shoulder.
I know what you want, Ka_rina_," she said,
“but your group needs you. | need you to
help them get 3 passing grade on this
assignment, Only you can help them.”
| was stunned. | was humbled. | was
amazed. She had seen something in me
I hadn'tseen 4 '

-:"WiH you help them ?” she asked.

I stood straighter, “Yes,” I replied. | could’t -

KB - 20126
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believe_if came out of my mouth, but itdid.

I had committeq.

51. Thenew Project was for : :

(A) Launchingamagazine = =
: '\(Bﬁeating a'neWspap'er for
; culture i

_ . (C) Announcing a new cultyre

(D) _Creaﬁhganewsp‘aperfbrfun '

52. M’iésy Wwas included in the grdup of ;
- (A) Mauro
(B) Karina

(©) ilicte :
: @X\J‘;ne of them

93. Karina did not like h\er\'gdr‘qupl
x.because: : ' : ey
(A) Thegir could not Speék English -
(B) ~The boywas shabbily dresseq
(Q/ She wanted to join Mfss’j?s

group = & e
(D) The other girl useq to' wear
miniskirt i

54. The teaéh_ér, Mrs. B put Ka{rfna inthat

particulargroup because Karing :

(A) Started crying

(B)” 'Wanted'to be in another groﬁp

&) Was confused
Could help the students in her
group -

Contd.
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55. Karinawas stunned because :
(A) Shewas hurt

(B)“Herteacher had identified her

leadership potential

(C) She could not join the group of
her choice

(D) She got a passing grade

- Passage - Ii

One miserable rainy night, a man nanred

Mark decided to end his life. In his mid-

When | heard the doorbell ring, | Jumped

. from my chair and raced out of my room to

the top of the steps. My mother was aIready
atthedoor. :
Opening it, she found herself face-to-face

With a very disheveled-looking man with

tears streaming down his face. My mother,

_ overcome by pity, invited the man inside,

and he sat with my parents in our living

~ room.

- Curious, | snuck downstairs so thatfcould

fifties, Mark had never been married, had

never experienced the joy of having
~-children or spending holidays with his
family. Both his parents had been dead for
seven years He had a eister but had lost
contactwith her. He | heid a menial job that

geta betterlook. | couldn't understand what

they were saying, but the s:ght of the

rumpled man, holdmg his head in his

“hands and crying, made my chest ache. |

left him unfulfilled. Wet and unhappy, he

walked the streets, feeling as if there was

nobody in the entire world that caredif he

- lived or died.

raced back upstairs to my room and stuck
my hand Jnto my money jar. Pulling out the

Kennedy half-dollar | had earned that day, I

ran back downstairs
When I reached the door of the living room,

- Iwalked right in. The three adults looked

- Onthat same soggy night. Iwas sittingin

My roomwatching the rain hit my window, |
was six years eld and my life revolved
around’ my Star Wars action figure
-~ collection.1was dreamrng of the day when
I'd have earned enough money to add

atmeinsurprise as | quickly made my way
over to the stranger. | put the half- dollar in
his hand and told him that | wanted him to

 have it. Then Igave him a hug and turned

Darth Vader to my new collector’s case. :

- To help me make money, my father paid

me to jog with him. Everyday, at seven

o'clock, we jogged together.
- And everyday, | was fifty cents cioser fo
gemng Darth Vader.
KB - 2D/26

* - bowed. Tears streamed down his face as

@)

and ran as fast as | could out of the room
and back up the stairs. I felt embarrassed
but happy.

Downstalrs, Mark sat quie_tly with his head

he tightly clutched that coin, Finally| Iookmg
up at my parents, he said, “It's just that |
- (Turnover)
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thought nobody cared. For the last twenty 61. A leader has the ability to influence

years, | have been so anne Thatwasthe ~ others through qualities such as
first hug | have gotten in — | don’t kriow personal —————, expertise,
how long. It's hard to believe that command of language, and the.
_ _ Somebody cares: creation of mutual respect — alf of
Hat 56. Mark nted to end his er because : which require strong interpersonal
: Ml: felt extremely dejected : skills. - :

‘ (BT His parents had died

; : e ' (A)  aura
- (C) Hehad only one sister ‘ \@)jc;harisma

(D) Hewasjobless @

57. Thatlittle boy was fond of : (D) machismo
(A) MWatching rain 5 : S
\@/}N S 62. Interpersonal skills include the

Darth Vader figure o i
¢ e ability to and manage
(C) Money
. i the emotions, motwations and
(D) Jogging behaviours of oneself and other
gl 58.- Thevisitorwasa : !  during social interactions orina
(A)  Family friend \  Sociakinteractive context
{B) /Robber ' A) feel
‘&:eedy person : _ : Mad_
! . (D) Neighbour (C) ‘suss
/ dem 59.  Theittle boy gave the visitor his - (D) view :
A R \(Aﬂd:\‘ﬂoney : ' 63.  Those who have interpersonal skills
(B) Food ot s are able to manage their behavioyr
(C) Toys e during social interactions ang align
_ (D) Star War action figure  their goals to the goals of others
. 60. Why did Mark cry ? , durlng_______actiwtres.
_(A) Hewasin physrcaf pain (A) cohesive
(B) He had not eaten for days ' {g/ collaborative
g Hewas unmarried - (@) collocationa]
He was greeted with love and

(D) concessive
care i

KB~ 2D/26 e : Contd.
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64. They are able to empathize and are
~ sensitive to the needs of others and ;
the way

to the forces that
that others feeland behave.

(A) bend
(B) ‘mar

(C) mend
jp/;;ape

85. Modern teamwork often. brings
fogether individuals from diverse
groups who may not share common
norms, values, or butwho

" do offer unique expertise, msughts
and perspectives. :
@A) accommodatlons S
(B) cubicles =
(C) salaries
(9/ vocabﬁlaﬁes
66. E-mail, voice mail, audio conferen-
cing and video conferencing, and the
_smyriad other technologies that enable
individuals to commumcate Wlth each
other not only increase: the ways in
which individ uals can interact but also
W require a hexghtened sensitivity to the
_____ of interpersonal
interactions. ' ;
(A) innuendos
(B) naivete
: nuances
(D) repartee
KB -2D/26 :
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67.

68.

69.

This idea is particularly true in _the-_
worlds of virtual learning and virtual
communication, where one cannot
vet use hand ge-stures, facial

to

. expressions, or body
“fully express idéas. .
\@J/Iaﬁguage

(B) movement

(C) poses

(D) . positions

Thé -chaltenge ol i it
personal skills not only in face-to-

face interactions but in virtual

interactions as well.

Qﬁp/bérfect :

(B) perform

(C) produce

©) project

As .‘the' police saw the accident
themselves the driver avoided the
L of Having fotgivera
detailed report. |

(A)J ‘need

(B) requirement

_(C) indictment -
\(/DK:cessity :

(Turn over)
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— — _ overwhowas to blame,

lt’s a complete waste of time

the main thmg we have to do is :

decide what to do next
arguing /

(B)

(€)

(D)

It was €asy to realise: why the

discussing
‘Tepeating
considering.

machine hag stopped working since

it was a direct ——_ _ of his
failure to maintain it

(A) - Complement

(B) A oncern
(Q/zonsequence '
(D) Conviction

lam completely confused as to why
: she did itand so it's not

to imagine why other people are
- mystified, tog,

(A) “definite
M Hifficult
(C) debat

(D) decide

lhavegreat 4 them at

this time becayse lhave had 3 SImilar
experience.

by
)

(C) sorrow

sincerity
Sympathy

(D) - sadness

KB - 2D/26

74,

76.

(20).

_ ‘(ii('/)/Mrolls
==

Many of the People in the crowd

were visibly crying bécause they all

—— withthose who had lost

relatives i inthe disaster..
(A)
(B)

(C) rejoined _
@Aympathized '

resented

regretted

/f‘:./A tailor had a number of shirt pieces

to cut from arollof fabric. He cuteach
.roll of equal lengthinto 10 pleces He
cut at the rate of 45 cuyts a minute

How many rolls would be cut in 24

ﬁx%

L

20 rolls

Today is Varun s birthday. One year

after from today he will be twice as

old as he was 12 years ago. How old:

is Varun‘tqday %
(A) 20 years

(B) 2y'éars :
\\é%i years =

(D) 27years

minutes ?
(A 32rolls TD’%J
(B) 54rolls ==
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77. Ayush was born two years after his ~ Was born. If his sister was 4 years of
father's Mmarriage. His mother is five '
{i- “Years younger than his father but 20

. , “Were the ages of Ravi's father and
1 ~years older than Ayush who is10 '

age when his brother was bomn, what

- mother respegtively when his brother

23 years E\,K/ \z‘ 2o 2 NV 32 years, 23 years
; S '

(B) 25 years % \ a@‘

(C) 33 yedis e mu %D 2) 35years, 29 years

: Y
(D) 35years (D) 35 years 33 years '

'ln three ‘Coloured boxes — Red,
- 80. inaclass of 60 students, the number

‘Green and Blue, 108 balls are
‘placed. There are twice as many

(B) 32 years 29 years

of boys and glr!s participating in the

balls in the green and red boxes annual SPOWS is in the ratio 3 ; 2
- oomb:ned as there are in the blue box .respectwely The numberofgfrls not
~ and tw:ce as many in the blue box as ; partICJpatlng in the sports is 5 more
there are in the req box. How many than the number of boys nOt _
, balls are there in the green box 2 Qé;tiei'pafing Iin the sborts. I the
®) 18- nurhber'of boys participating in the
(B) 38

sportsis 15, then how many girls are B , '| b

C) 45— — |
. (©) e 9/’ ; theremthe class ?
i None of these Id( : : ‘ '
(2o =

79, Ravi's brother is 3 years senior to By
. him. His father was 28 Years of age :

Lo \ 30

When his sister was born while his N\? S
: : (D) *Data inadequate .
motherwas 26 years of agewhen he :

- M{g )%@1 — ”J‘f'i
Rapd — x 3wl

_og SV L : . ;
%% -Pla:q':%llflﬁl"llll :

KB-2D26 | @ (Tumover)
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OCS PRELIMINARY EXAMINATION 2018-PAPER-2
ANSWER KEY (SET-D)

1 C 41 A

2 D 42 C

3 A 43 D
4 A 44 C

5 B 45 D

6 A 46 D

7 C 47 A

8 C 48 B

9 C 49 B
10 B 50 C
11 C 51 B
12 D) 52 D
13 B 53 C
14 D 54 D
15 C 55 B
16 D 56 A
17 D 57 B
18 A 58 C
19 D 59 A
20 A 60 D
21 A 61 B
22 C 62 B
23 B 63 B
24 A 64 D
25 B 65 D
26 B 66 c
27 B 67 A
28 B 68 A
29 D 69 D
30 B 70 A
31 A 71 C
32 B 72 B
33 C 73 B
34 D 74 D
35 C 75 D
36 A 76 C
37 D 77 A
38 D 78 D
39 D 79 A
40 B 80 C
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